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CHAPTER 1: NUMBERS

1.1 Numbers up to 1 million

B ! block = 1 one

Group of 10 blocks = | ten == = == —_—

Ahmad has 26 blocks .
How many tens and ones are in 267
E 6

2 rana 6 ones

EEEEEE 26 = 2 tens 6 ones
| 26 =20+ 6

In words, we read and write it as twanty als

When we group 10 tens together, we get | hundred.

How many hundreds, tens and ones are there in 2417

There are 2 hundreds, 4 tens and | one in 241.




Look at these coins. The number on each coin shows its value.

. One @ Ten . Hundred

Let's write 241 according to the place value of its digits.

Hundreds Tens

Ones

e

2

241 = 2 hundreds + Y tens + | ones
= 200 + 40 +1

In words, we read and write It as two hundred and forty one

“y

i [dentify hundreds, tens and ones in the following numbers and |
complete the table.

Hundreds Tens Ones

171

139

589




Group of 10 hundreds = 1 thousand =1 000

There are 3 254 students in Ali'a school.

g R

There are 3 thousonds 2 hundreds 5 tens and % ones in the number 3 254,
Thousands

Hundreds Tens Ones
©® 00
5 4

3 2
Digit 3 is in the thousands place It has a value of 3 000
Digit 2 is in the hundreds place It has a value of 200
Digit §is in the tens place It has a volue of 50
Digit % is in the ones place It has a value of 4

3254=3000+200+50+4
In words, we read and write it as three thousand, two hundred and fifty four

There are three thousand, two hundred and fifty four students in All's school.



Can you read and write a nymber with 5 thousands 6 hundreds
2 tens and 4 ones?

b thousands 6 hundreds 2 tens 4 cnes

g | N

b624

5624=5000+ 600 +20+ 4

Bl

In words:  Five thousand, six hundred and twenty four
In flgurau-: 5624

The school library has 12 635 books.
Look at the place value chart.

Ten Thousands| Thousands | Hundreds Tens Ones
& ee®®%hos
@ e 00
1 2 6 3 5

There are | ten thousands, 2 thousands, 6 hundreds, 3 tens and 5 ones.

12635 =10000 +2000 + 600 +30+35

In words: Twelve thousand, six hundred and thirty five
In figures: 12 635
i Ty

Identify the place value of all digits in 93 465.

There are ten thousands, thousands, hundreds,
tens and ones.
93 465 =90 000 + + 400 + +

o . -



Group of 10 ten thousands = 100 000 < AE

100 000 is written and read as one hundred thousand.
Identify the place value of each digit in number 215 678.

Hundred Ten
ity 0 it Thousands | Hundreds Tens Ones
2 1 5 6 7 8
210 678

e B

2 hundred | ten 5 thousands 6 hundreds 7tens 8 ones
thousands thousand .

215678 =200 000+ 10000 +5000+600+70+ 8
In words: Two hundred and fifteen thousand, six hundred and seventy eight.
In figures: 215 678

If we have 10 hundred thousands, we get 1 000 000.

0eee =«
. . . 1 000 000 ia written and read as ona million.

We will leave a second space between hundred thousands and millions.




Table shows distance between moon and earth in kilometres.
Can you read and write the number in words and figures?

Milkors Thousands I-...;.Tmm Thousands| Hundreds | Tens | Ones
| g 8 2

3 4 5

There are 3 millions, 4 hundred thousands, 5§ ten thousands, 1 thousand,
9 hundreds, B tens and 2 ones in this number.

We read and write it as:

In words: Three million, four hundred fifty one thousand, nine hundred and
eighty two.

In flgurﬂq 3 451 982,

Let’s look at the place value of each digit in the number 3 451 982.

Digit  is in the = wns place It has a value of 3 000 000
Digit 4 is in the hundred thousondsplace [t has a value of 400 D00
Digit 5 ia in the Yen thousandsplace It hos a value of 50 000
Digit | is In the thousands place It hos a value of 1 000
Digit 9 ia In the hundreds place It has a value of 200.
Digit 8 is in the sens place It has a value of 80
Digit 2 is in the anas place It has a value of 2.

3 4561 982 = 3 000 000 +%00 OO0 +50 DOO+1 OO +900 + 80+ 2




Identify the place value of all digits in 12% 756.

There are hundred thousands, ten thousands,

thousands, ____ hundreds, tens and

ones.

Complete the place value table for 9 871 203 and write it in
expanded form.

Milliors “Hmmd le s Thousands| Hundreds | Tena | Ones

9 000 000 + + + +200+0+
Write 935 432 in words.

Write five million, three hundred eighty two thousand, four hundred
and thirty three in figures.

LN

Group of 10 millions= 10 000 000

There are 25 450 605 people in a city.
Let's write the number according to the place value of its digits.

Ten Hundred Tan
Milk Miltions Miaascindd T cote Thousands| Hundreds| Tens| Ones

2 9 4 o 0 6 0| 5

25 450 605 =20 000 000 +5 000 000 +400 000+ 50 000 +
0+600+0+5

In wordas: Twenty five million, four hundred and fifty thousand, six hundred

and five.
aw



Group of 10 ten millions =100 millions =100 000000

Let's identify place value of each digit in the number 523 129 728.

Hundred| Tan Hundred Ten
ion Th dreds|T
Millions |Millions Milliona ool Trenaiis ousands| Hundreds| Tena ﬂ‘nnl
&0 2 3 I 2 9 7 | 2] 8

There are § hundred millions, 2 ten millions, 3 millions, 1 hundred thousands,

2 ten thousands, 9 thousands, 7 hundreds, 2 tens and 8 ones.

023 129 728 = 500 000 000 + 20 000 000 + 3 000 000 + 100 000 +
20 000+ 9000 + 700+ 20+8

Let's read and write the number.

In words:  Five hundred and twenty three million, one hundred and twenty nine
thousand, seven hundred and twenty eight.

In Figures: 523 129 728

' '

Complete the place value table for the number 182 246 342.

Hundred| Ten Hundred -
L [T Th ﬂd H P T
Millions "hﬁl” i Thousands] Thousands ousance| Hundredal Tens | Onee
- 3

Write 182 246 342 in words.




Exercise 1.1

ACTIVITY

Ahmad has some digit cards.

He can make different 5-digit numbers.
Write down any five numbers he can make.

1.

Write the place value of underlined digits.

72 _70 g) 9991324

367 —— h) 7036904

2397 —_ 1) 50718369

8910 — ) 858724098 ——
47613 k) 625891125 —
612731 1) 709020168

Write each of the following number in words.
63 Sixty three.

415

6314

19 412

583 614

2 444 719




g)

h)

i)

33 690 132

65 498 876

390 790 080

3. Write the following numbers in figures.

a)
b)
c)
g
e)
f)

g)

h)

1)

k)

Five hundred and forty three.

Nine thousand, two hundred and fifteen.

Seventy one thousand, two hundred and nine.

Nine hundred eighty one thousand, five hundred and sixty three.

One hundred thirty thousand, four hundred and twenty one.

Five hundred thirty two thousand, one hundred and one.

Seven million, five hundred seventy six thousand and fifty four.

Nine million, eight hundred six thousand, five hundred and eighty five.

Nineteen million, eight hundred seventy three thousand, five hundred
and twenty one.

Thirty one million, fwo hundred fifty six thousand, seven hundred and
twanty ona.

Six hundred and fifty three million, two hundred and seventy two
thousand, four hundred and thirteen.




4 In the number 845 296 000,

a)  The digit is in the millions place.

k)  The place value of the digit B is

¢)  The place value of the digit 2 is

d)  The digit 9 is in the place.

e) The digit s In the thousands place.

5. Complete the following:

o) 5814=5000+ + 10+ 4
b) 12718 =10000+ _________+700+10+8
¢) 2303820=_______ +300000+3000+_____+20
d) 8517342=8000000+ ____ +10000+ + 300
+40 + 2
o) 653217l=______+500000+30000+_____+ 100
+70+
f) 25479 600=20000000+ _____+%00 000 +70 000
) O, .}
g) 37 16%5663 =30 000000 + +
+60000+%000+_____ +60+3
h) 364 176 321 = + + +
+ + + + +




1.2 Number line

ol
2B 1=
O
o 4
=
o =
=

Ali and Sara are holding a banasr to show a number line.
The number line shows numbers from left to right === In arder from

smallest to greatest with equal spaces.

You can see that every number that appears on the right is greater than
all numbers on its left.

Let's circle number 5 on the number line.

i
WA

t >
y

+

'l AL
L] L]

0 1 2 7 8 9 10

' B
[ A

O Is greater than every number that Is on its left and 5 is smaller than every

number that is on ita right.

Now, look at the number line below. Ahmad skips over 2 spaces to
go to 2.

Let’s find number 3 on the number line.
Since, number line shows numbers in order with equal spaces In between,

the line marked between 2 and 4 shows the number 3.

When we hove 1o go to bigger numbaers on the number line, we can always

skip over equal spoces



Identify number 5 on the following number line.

0 3 Eﬁ i 12 15
AL,

o Is one less than 6.

Cnun'r one step backward
5 s 2 more than 3.

Count on two steps forword.
Show 15, 20 and 30 on the number line.
To show these numbers we can draw any number line

that goes to ot least 30. Let's skip count by 5.

i e i i il
0 5 26 30 36

10 ’EE ’Eﬂ ’

We have rapmaﬂn‘l‘nd all three numbers on the number line.

Represent 20, 40 and 50 on the following number line.

0 10 20 30 40 a0 60

4:::*:::::*: —>

Since, numbers and the vertical lines on a number line are equally spaced,

one line batween 0 and 10 means a 5.

The first buﬁarﬂy ia sitting ot 15

The second butterfly is sitting at




Exercise 1.2

1. Draw the number lines and represent the following numbers.

<+t t
a) 2, %ond 6 0 1 2 3 4 5 6 7 8

+
v

b) 5.10and 15
c) 10 and 25

d) 4, 8and 20
e) 20and 40

f) 30, %0 and 60

2. Identify the value of the number where the frogs are sitting.

u}-l:!i::""!ih

0 1 2 3 4 5 6 7 8 9 10

D e S —— t AN, SYRT VPRI, VRI: SRS SIS
0 10 20 30 40 50

c) —+ ! ————j i R S S e ©
0 10 20 30 40 50

d) ! " t N W S— t —

0 8 16 4 52 4D



1.3 Comparing and ordering numbers
Ahmad has 22 toffees and All has 15 toffees. Who has more?

JI2I2323333 | | J8IFIIIIIIE
Hﬂa’fﬁ!f 2292

22 is greater than 15.

15

We can alse compare numbers by comparing the digits in the highest place
value only. 2 is greater than 1. So, 22 is greater number than 15. We can alse
write it as 22 > 15. So, Ahmad has more toffees.

Which number is greater, 198 or 3287
Let's compare the digits In the highest place value.

3 hundreds is greater than 1 hundred.

Hundreds| Tana | Onee
So, 328 |s greater than 198. 1 5 5
We can also write it as 328 > 198. 3 7 8

Which number is smaller, 63 163 or 98 1637
Let's compare the digits in the highest place value.

it Ihutentica leavsalier-thon 3 ten Th tén hnulﬂndll‘lundrud-l'finp Ones
thousands. So, 63 163 is smaller than —"'—“—‘fﬂE z : —
98 163. We can al=o write it as: = 3 | T3

63 163 < 98 163.



Which number is greater, 47 463 111 or 88 445 6227

Ten Hundred Ten |
Mill B Ll

wiltons "™ IhousondelThousen dﬂThnumnd: undreds| Tens | Ones
4 7 4 5 3 | 1 1
g 8 1 4 5 6 2 2

Let's compare the digits in the highest place value.
8 ten millione >4 ten millions. So, 88 446 622 > 47 453 111

Compare the numbers and write “>" or "< " In the middle.

4 369 3863 234 569 613679 23187 345 91 207 500

Compare 7 198 and 7 283.
Let's compare the digits In the highest place value.

Both numbers have 7 thousands. So, we move on [T} ousonda Hundredd Tens| Ones
to next digit and we compare the hundreds. 1 < 2. 7 | 9| 8
So, 7 198< 7 283. ! 2 ] 8]3

When comparing numbers, if the digita in the highest place value are same,

we continue to compare untill one of the digits is greater or smaller.

Which number is greater, 32 984 312 or 32 935 0117

Let's compare the digits in the highest place value. Digits in ten millions placa,
millions place and hundred thousands place are same in both numbers. So, we
compare digits in ten thousands place.

8 ten thousands > 3 ten thousands.

50, 32 984 312 > 32 935 011



Compare the following numbers and write *>" or “¢” in the middle.

12 432 12 489

B7 456 611

87 011 328

Sara has 12 marbles and Anum has 9 marbles. Who has more marbles ?

359339
9599
12
12

>

9
9

12 is greater than 9. So, Sara has more number of marbles.

Which number is smaller, 1 219 or 3257
Let's compare digits in the highest place value. | Thousands

The number 325 has no thousands.

There are 0 thousands In 325.

Remember we can write as many zeroes as we want on the left side of o

number.

Hundreds | Tans | Ones
1 2 1 9
0 3 2| 5 |

0 thousands is smaller than 1 thousands. So, 325 < 1 219.

Which number is greater, 1 32% 660 or 32 100 789 ?
There ara O ten millions in 1 324 660,
3 ten million > O ten million.

So, 32 100 789 > 1 324 660.

6110

41 880

112

241 721

Compare the numbers and write “>" or “¢" in the middle.

29776 I 650 117

21 876988 200 701




Ordering numbers

There are four schools in a city with different number of students.

School A School B School C School D
92000 7 600 2 BOO 3 000

Which school has the most number of students? Which school has

the least number of students ?
9 000 is the greatest number. School A has the most number of students.

2 80O ia the emaollest number. School C has the least number of students.

C:;m you urdar H"I'EEB numbera?

Let's arrange the numbers from smallest to greatest.
Write smallest number first and greatest number at the and.

If we write the smallest number first and the greatest number af the end,
it is called Increasing order or ascending order.

We can also arrange the numbers from greatest to smallest.
Write the greatest number first and the smallest number at the end,

If we write the greatest number first and the smallest number at the end,
it is called decreasing order or descending order.



Can you arrange the following numbers in ascending order?

56 248 910, 9 286 344 and 56 382 193

hn Millions Hundred Ton Thousande| Hundreds | Tens | Ones
Milliona IThousands|Thousonde
5 6 2 4 ¥ 1 U
0 9 2 8 3 4 4
5 6 3 : I 9 3

Let's start from the highest place value, 5 Ten millions > O ten millions. Se,

9 286 344 is the smallest number.
Mow, we compare 56 248 910 and 56 382 193,

Ten millions place is same and one millions place is also the same. So, we
move to hundred thousands place. 3 hundred thousands Is greater than 2

hundred thousands.
Se, 56 382 193 > 56248 910
Let's arrange these numbers in ascending order.

Write the smallest number first and the greatest number at the end.

9 286 344 56 248 910 56382193 UG
>

' B A

Arrange these numbers in ascending order

246989 435123 289 909

Arrange these numbers in descending order
24 653900 78542121 12432677

l ®



Exercise 1.3

a) 345 1806
b) 6890 [ | 6017
& 23 765 12789
d) 11345 13 345
) 132 302 432 411
f) 2645789 3 942 000
K 99 654 323 99 894 121
) 321654213 [ | 821654379

2. Arrange the following numbers in ascending arder.

a} 238 141 634

b) 6157 3164 2157
c) 93 231 23 451 99 864
d) 846 123 214 675 871 462




e) ] 423 431 6 153 540 6879 892
f) 935 211 999 111 232 000 321 342 121
g) 25 432 419 999 123 156 100 234 456

3. Armange the following numbers in descending order.

a) 238 141 634
b) 6 157 3 164 2 167

c) 85 205 12 285 99 000

d) 816 816 110 819 962 321

a) 3 171 623 5000 701 3762 189
f) 11235 686 22 544 000 34 343 766
) 34 125 131 99 123 200 248 156 000




CHAPTER 2: ADDITION AND SUBTRACTION
2.1 Simple addition

Ahmad has 15 marbles. Sara has 12 marbles. How many marbles
do they have in total?

To know the total, we will add 15 marbles and 12 marbles.

Abmod PSS FSSIISISISIISIID
Sara PEIIIIIIIIGS

You can count the total marbles. There are 27 marbles in total.
We add numbers by writing them according to the place value of their digits,

First, we add ones of the
numbers.

o 0000
®

% Next, we add tens of the . . .

number.
1+ 1=2

%

-+
=I4in3 €hn

W
1 ]
+ o0 0000

] 2

[ B 8w

The sum of 15 and 12 is 27.

(Add the following numbers: f
. 2 3 3 4 6
3 1 + 4 2 + 2 1




Ali spent Rs. 321 on Eid. Sara spent Rs. 54 on Eid. How much money did both
spent on Eid?

To knew the total, we will add 321 and 5%,
Recall that we can always put a zero on the left side of a number without

changing its value.

£

First, we add ones. 3 2 1
1+4=5. + 0 5 4
3]

% Next, we add tens.
2+5=7.

L& Next, we add hundreds.
3+0=3.

Ali and Sara spent Ra. 375 in total,

- ~
Add the following numbers:
g8 3 1 3 .2 6 1
+ 3 + 6 3 * 4 2 3
8 6




Let's add 6 137 and 2 622.

We will write both numbers according to the place value of their digits and

6 1 3y 7
#0 & 6 2y 2
5 9

Add the tens.
342=5

follow the following steps.

6+2=8.
The answer is 8 759.
(Add the following numbers: h
4 4]
+ 1 8 + Y + "
M A




What is 43 162 + 12 4467
Let's write both numbers according to the place values of their digits and

follow the same steps to add them.

¥ Step & = = ]
Add ten thousands. 4 ten thousands +1 ten thousands = ten thousands.

==

( Add the following numbers:
13 674 32 881 67 100
+ 64 221 + 27 137 + 22 1%0

Follow the same steps you have learnt and add the following
numbers. Remember we start adding from the right side.

613 451 231 871 31 211
+ 262 138 + 56 121 ¥ 7 12 R

k | 3



Exercise 2.1

1. Add the given numbers.

a) b)
30 65 1
+ 1 6 + 2 3
dy Bl E 2 e)
+ 36 60 +

g) 12 Y9 % K] 25D 3 2.1) 6007 020
+61 404 + 641 365 +372464

2. Line up the following numbers according to the place value of
their digits and add them.

5 16+22= G

b) 6174140 = —

c) 2236+6763= E———13

d) H1618+14160= [ )

o) 13617+ 10141 = | )



2.2 Addition with regrouping

There are 16 red flowers and B yellow flowers in a garden. What is
the total number of flowers?

T TTE LR L2 8 L b
89888888

You can count total number of flowers. There are 24 flowers in total.
Let's write both numbers according to the ploce value of their digits and

add them.

DD
® o0

8+6 =14

We will regroup 14 into 10 and 4.
14 ones = | tan 4 ones.

Let's carry 1 ten to the tens column.

% Next, we add tens.

L

1+1 =2

The total number of flowers is 24.




Can you now add 937 and 237

Let's write both numbers according to the place value of their digits.

Recall that we can always put a zero on the left side of o number without

changing Ita value.

‘i First, we add ones.

7+3=10

We will regroup 10 inte 10 and 0.
10 ones =1 ten O ones

Let's take | ten to the tens column.

Next, we add tens.

We have 1 mare ten now.

3+2+1 =6
% Next, we add hundreds.
+L =
iR =9 9 6 0
The answer ia 960,
r- T
Add the following numbers:
1 8 6 1 6 9 5
+ 3 . 6 0 2 + &6 0 8




A toy shop has 4 255 different toys in one section and 't 360 toys
in another section. How many toys are there in total?

To know the total, we will add both numbere.

Addthetens. 5+ 6 =11

11 tens =1 hundnﬁmdlun
Carry | hundred to the
hundreds column.

There are 8 615 toys in total.

r’Flﬂ-::l the sum of the following numbers:

4 9 B 7 3 09 0
+ 6 3 G 1 + 1 ‘93 1 +

e T
o o
0 o




Let's now add 91 819 and 33 276.

ten thousands. 9 +3 =12. 3
¥Step 12 ten thousands = 1 hundred thousand ﬁmw

[Addhundred thousands, 1+#0=1__ |

=,

[ Find the sum of the following numbers:
13 6% 9 32 081 71 584%1

* 64 421 T 56 88y4 * 654 772

Follow the same steps you have learnt and add these numbers.

673 338 7652 1768 9656 B19
+ 112 047 + 218 315 ¥+ 341 270

%0 J




Exercise 2.2
1. Add the given numbers.
a) 3 6 b) § 5 € 1 82
+ 7 9 + 1 6 + 1 39
V1 &5 3 ° 8009 B el
+ 1 1 8 + 7269 + 1531
2. Find the sum of the following numbers.
a) 673HY b) 17316
E ] + 4176
c) d)
R 190 63 174
L 1 635 + 20 935

3. Line up the following numbers according to the place value of
their digits and add them.

) 55429 =

5) 91452 =

3) 260+ 1680 =

j) 5168+ 1409 =
) 41 850+ 20 311 =

r‘—#—u["-.-"wr'—‘-.




2.3 Addition problems in daily life

a)

b)

d)

Sara has 32 blue toffees. Ali has 1B red toffees. How many toffees are

there in total?
T
144444 3 2
1444444
5

0
T L8 +

Pakistan scored 350 runs on the first day of a cricket test match and
215 on the second day. How many runs were scored in total?

The shopkeeper sold 450 oranges in the morning and 375 eranges in
the evening. How many oranges did he sell altogether?

Anam scared 8 789 in level 1 of her computer game. She scored 7 480
in level 2. What s her total scora?

There are two schools in a town. 2 450 children go to one school and
8 910 children go to the ather school. How many children go to both

schools? %



2 4 Mental addition
.et’s find the sum of 22 and 56.

;plit the numbers according to the place value of their digits

2=20+2
6=60+ 6

Hence, 22 + 56 =78
.et’s find the sum of 350 and 415.

iplit the numbers according to the place value of their digits.

I560= 300+ &0
‘15 =400+ 10 +5

i

\dd the following numbers:
Yo+ 35 = ] T0+81=
38+10 = 80 +18 =
70 + 40 = 280+ 10 =
30 + 36 = 350+ 400 =




2.5 Simple subtraction
Sara bought 23 biscuits. She ate 11 of them. How many does she
have left?

BESBEFEEEEESES
G880 8889

There are 12 biscuits left.

Wae find the difference between two numbaers by writing them according to
the place value of their digits.

ﬁ First, we subtract ones.
3—1 =2

% Next, we subtroct tens.
2-1 =1 @ e

e =
1 2 The difference between 23 and 11 is 12.

Find the difference of the following numbers:




Asad has 125 coins. He gove away 13 coins. How many coins are

eft?
o find out number of coins left, we will subtract 13 from 125,
Yecall that we can always put a zero on the left side of a number without

:hanging its value.

A :
ﬁ First. we subtroct ones.

5-3=2

% Next, we subtract tens.

2=1=1

‘% Next. we subtract hundrads.

1-0=l1

|
)
=

Asad has 112 coins.

“Find the difference of the foflowing numbers:

g 3 4 3 0 - SR
v 2 - 1 0 - 6 1




A worker packed 2 317 shirts. If he has to pack 7 348 shirts in
total, how many shirts are still left to pack?

To know that, we will subtract 2 317 from 7 348.

The answer I8 5 031 shirts.

Find the difference of the following numbers:

S 4 8 7 . S 2 4 5 1
- 1 0 0 7 = VgL 2R - 2 8 2 0




What is 79 6562 - 72 6407

Let's line up both numbers in vertical columns and follow the same steps.

The answer is 7 022,

Find the difference between the following numbers:
93 638 54 601 76 329
LA 216 » g 2 0 iR L2 ¢

Follow the same steps and find the difference between the

following numbers.
413 487 651 2561 935 430

-112 261 - 210 14%0 -721 000

L Ed




Exercise 2.5

1. Subtract the given numbers.
b) 8 4

a) 8 4
oty T %
d) 263
21

e) B 3 6
ST ek

2. Calculate the difference between the given numbers.

a) 4634
- 3OO
d 1 3876
- 14%13
g) 26568 4 6
- 1202

b)

e)

h)

¥ 3535
-4 0123

81760
-61700

58764
-2170 2

c)

76148
-6 5135

fl 989001
-9 75000

i} 760901

8 0 %00




2.6 Subtraction with regrouping

Let's find the difference between 23 and 6.

% First, we subtroct ones

We cannot subtract 6 from 3.
So, we will borrow 1 ten from
the tens side. Now, we have

. 13ones. 13—-6=7 : -
L% Then, we subtract tens. '....

3

1

After borrowing, we are left .

with | tens.
1-0=1

i Subtract the following numbers:




Find the difference between 292 and 165.

Let's write both numbers aceording to the ploce value of their digits.

?ﬁ Firat we subtract ones.

We cannot subtract § from 2.

So, we will borrow 1 ten from
the tens side. 12 — &5 = 7 7

L& Next we subtroct tens.

We have 8 tens lefi.
B—-6=2 -

Lﬁ Next we subtract hundreds. _

B
2 hundreds — | hundred =1 hundred ®?
- & &
1 2 7
Solve the following:
1 B8 & 2 3 6 6
- 4 7 -1 & 0 -1 6 §




Ali is writing an essay of 6 525 words. He wrote ' 280 words. How
many more words does he have to write?
Let's subtract 4 280 from 6 525.

Ali hae to write 2 245 more words.

~] D
(% T
%= I |
i ¢




Now, let’s find the difference between 63 158 and 57 462.

Eﬂf 12'3' 1{;,{ lg 8

-:J-l."

The answer is § 696,

Fm&fhocitﬁmﬁrhfnluwhg numbers:
71 264 85 361 63 168
- b0 6411 - 67 1420 - 48 093
Follow the same steps and subtroct the following numbers.
784859 620 7065 636 529
- 629379 R e S N 1 I P i




Exercise 2.6
1. Subtract the following numbers: -
a) o Mpads] [ i of* “ 4§ T8
- 360 e i H-9 e TR RS
d 2887 g 4761 fl 54602
-1578 =2 G, -1375%
9. Find the difference of the following numbers:
Q) 98467 b) 37510
- 16827 = 1 8

3. Line up fhn.gimn numbers and find their difference:

a) 958-682= k= )
b) 4698— 3400 = ( ]
¢) 5183- 2661 = [ )
d) 6897- 4910 = (R

e) 45126—-1003 = [ )

f) 70800 -14783 = ( )




2.7 Subtraction problems in daily life

a)

b)

d)

There were 5% marbles in a jor. Sara tock 32 marbles out. How many
marbles are left in the jar?

(T T TTT Y TTTTIIT

T TTTTIT Y T TTTII:

TTTTTIITY ] TTYIII: H

' TTTYTIT Y] ' TTITI1IT

(T TTTTI Y 3

[T TITITTIY] N 2
2

o4 32

Ali is reading a book that has 423 pages. He has read 167 pages.

How many pages are left to read?

Asad got 1 050 rupees from his father. He spent 312 rupees. How
much money does he have left?

There were 680 books in a school library, 250 were borrowed by the

students. How many books are |eft?

A factory made 9 450 footballs and sold 8 750 of them. How many
footballs are left?




2 8 Mental subtraction

Let's find the difference between 28 and 4y,
Count on from 28 to 30. Hold the 2 in your head.

30 to 44 5= 10 +% =14,

Add the 2 in 14. 14 + 2 = 16 is the answer.

Find the difference between 130 and 50.
Count from 5 to 13. 13—-5=8.50, 130 - 50 =80

i Subtract the following numbers:

67-10 = l_

24-8 =

23-12=

78-25 = r

44-32 = |

87-27 = |

350 - 270= 1 ,

820 - 580 = |




CHAPTER 3: MULTIPLICATION AND DIVISION
3.1 Multiplication

There are two groups of 4 balls each. How many balls are there in

total?
8 + % = 8
There are = groups. Each group has 4 balls.
X 4 = 8

We say ? times 4 equals 8.
We can also write it as. 2 ———= Multiplier
| X Y —= Multiplicand

8 ——= Multiple

We say that the product of 2 'and 4 is 8.

There are 3 boxes with 7 apples in each box. How many apples are

POOw Ghoe | Goee
vow i%i

L 1 ]

+ + = 21

There are 3 boxes. Each bax has 7 apples.

3 times 7 equals 21.



The product of 7 and 3 is 21.

3
X. 2

X

&




Ali, Sara and Ahmad hove 12 coloured pencils each. How many
coloured pencils do they have altogether?

There are 3 children. Each one of them has 12 coloured pancils.
Let's find what 12 times 3 is.

12%3="7

@

3 b
The product of 12 and 3 Is 36.

There are 36 coloured pencils altogether.

[ Multiply the following numbare:

4 3 [ 1 2 3
X 2 ¥ 6 X 4




Fatima reads 4 pages of a book every day. How many pages will she
read in 24 days?

Let's multiply 24 by 4.

Step 1 .

o o
.

6

o 0

Step 2
)
5
9 o]

Fatima will read 96 pages.

i1

Find the product of the following numbers:

P 4 3
X 95 X

m———

=
-

¢
2

||




Let's multiply 452 by 4.

_ Step 3

,: %

Thu answer is 1 808,

undmdkm&
hundmhﬁnd Iﬂﬁﬂﬂnﬂ

Multiply the following numbers:
6 1 3 18 3 k% 9
X 2 X 2 X 5




‘xercise 3.1
|. Complete the following:

2. Calculate the product of the given numbers.

a) 13 b 20 ¢ 10 4 i £
X X 4 X B X 7

e) 1 5 fl 3 6 g 5§ 9 h) B 2
X 5 X 2 X 3 b4 3

i) 222 jy 234 k) 671 1) 1544
X 3 X 2 X 1 X 4]




3.2 More about multiplication

Recall that 10 times 1 e 10.

What is 10 times 3?
- x 10
e
3 30

10 times 3 ia 30.

whole number (s multiplied by 10, we can write 1 zer at the
end of the original whole number.

Multiply 13 by 10.
@O® Y. Dd®
13 130
Let's multiply 3 by 20.

We will break 20 Into 2 and 10.
3 x20 = 3X2X10

= 6X10
= 60
Se, 3 x20=60
Complete the following:
17X10= N 13X10=
§X30= _____ 2 X410 =
\, A




shopkeeper has 12 boxes. Each box has 13 books. How many
ooks are there in total?

at’s find the product of 12 and 13.

1 2
X 1, 4

3 can be split inte 3 and 10.

Ve will multiply 12 by 3 first and then by 10 and add our products.

lacall the multiplication rules.

12 x 13=136




Let's multiply 26 by 14.

Multiply the fitst number by ones place of second number.
Step |__7

1 0 4

Add the products from step | and step 2.

%)

+
amy —
g O] —
E|lo £l o

( Multiply the following numbers:

3

1 3 2
X 2 3 X 4 1

o ==




A book costs 31 rupees. What is the cost of 127 such books?

Let's multiply 127 by 31
127 X 31=7

Thousands Hundreds Tens Ones
@
1 2 7
X 3 1
1 2 7
3 8 1 0
9 3 7




Exercise 3.2

1. Multiply the given numbers.

2 3 3 2 4 0 1 4
X 2 3 X 2 2 x 1 1 Xx 1 2
2 6 3 5 2 1 3 1
X3 1 X B X6 2 x5 6

2 Find the product of the following numbers.

639 6548 31 2 423
X 11 X 20 X 2 3 X 31



3. Find the product of the following numbers.

211 321 614 1103
¥ 32 X M2 X 31 x 21

Challenge




3.3 Multiplication problems in daily life
a)

b)

d)

Sara bought four bocks to read. If each book has 32 pages, how many
pages will Sara read in total?

32 X4=17 5

-Ena

X
12

1]

-
There are 9 mangoes in a box, How many mangees are there in 32

boxes?

Ahmad and Ali eat 11 toffees every day. How many toffees will they eat

in 7 days? |

There are | 272 children in a school. If every child has 7 books, how

many books are there In total? "
i -

A man sold some packets of balloons with 25 balloons in each packet. If h
sold 13 packets, how many balloons did he sell altogether?




3.4 Division

There are B biscuits in a box.

(i

Ahmad tokes 2 biscuits out. [ ‘ ‘ ‘ . ]
There are 6 biscuits left. . .‘ ‘

8-2=06

Sara takes 2 biscuits out, { 7
There are ' biscuits left. ‘ ‘::
6-2=4 \ J

Ali aleo takes 2 biscuits out. r "
There are 2 biscuits left. I . .‘ . ]

} -2 =2
Anam also takes 2 biscuits out. . 1
There are O biscuits left. | .. ]
2=-2=0

We can subtract 2 four times till we are left with 0.
This is called repeated subtraction

Count the mangoes. Subtract 2 till you are left with O.

10 -2=__
8 -2=__
—_— =
i B TRt
—_— =

We can subtract 2 times.




All has 8 balls.

999
29009
He wants to put them in 2 boxes with equal balls.

There are 4 balls in each box.
We say that 8 divided by 2 Is equal to 4

8 +2 =4

There are 12 oranges in a box.
We want to divide them equally in 3 boxes.

I geee
‘. .' 12 +3 =4
12 divided by 3 is equal to 4. " "

There are 4t oranges in sach box.

Write the correct answers.
¥y v v @@ DD
¥y vy ¥ PdPDd D
¥y ¥ ¥ ddP DD
9+ 3 = 18 + 95 =




Sara's mother bought 15 buttons. She wants to put them in 3 boxes.
How many buttons will she put in each box?

Let's find out 15 = 3

® M O M o

5 times 3 is equal to 15.
So, 15 divided by 3 is equal to 5.

15+3=25

Sara’s mothar can put § buttons in each box.

Divide these numbers.
6 +2 = 10+ 6 = 21 + 3 =
2B + 4 = 64 + 8 = 1B+ 6=
21 +7 = 45 + 9 = 90 + 9 =
. J




Can you put 26 marbles in 2 groups?

Let's divide 26 by 2. FYYTTIY]
Write the division sum. 'TTTTTIT]
We will start dividing from the highest place value. bbb
G TIIL;
1 Step |
2 )I [g]ﬁ

You can see that we put 1 in the tens column. Which means 10 times 2 is 20,
Let's bring the next digH’ down.

19 Step 2
27 Bb
- 2
06
it bl
0 Veomamoeaimen T8

Thera is nothing left. mm;ﬁ?

So, 26+ 2 = 13.

' BN

b

Solve. < 4 J48




Ahmad has 13 balls.
99099900
SIIIII
He wants to put them in 2 boxes with equal balls.
He can put 6 balls each in 2 boxes and he will still be left with 1 ball. -

0909 900 o
999 0999

I is the remainder. So, 13 is not campletely divisible by 2.

et's find out 23 + 4,
‘ecall the table of 4.

4x6=20
timea % 1s 20 and we will be left with 3 as a remainder.
Ve can also write It as 23 + 4 =5 Remainder 3

emember, remainder is alwoys smaller than divisor. Here, 3 < 4.

Recall your tables and divide these numbers.
21+ 2= JRemainder( ) 13 +3 =(_) Remainder ()
1146 =(_JRemainder( ) 28+ 7 =(_) Remainder ()

30+ 8 '-=D RﬂmulndarD B4 <+ 9 =D anulndurD
83

A




Divide 47 by 3.

Write the division sum and start dividing from the higheat place value.

311=3und3“2=ﬁ ;
So, 4 is not completelydivisibleby 3.
4 = 3 =1 We will be left with 1.

12 Step 2
a
3) 47 r
- 3
'—]‘1?— IE.'IM&n 17 hir 3

it 3x5=15and3 X 6 =18

E 5 S0, 17 is not completelydivisible by 3

1715 =2, 2 is the remainder.
We keep dividing until the %ﬁmﬁﬁ

remoinder ia less than the divisor, 2 < 3. -jﬂ!l!.-'li.. ' 'wﬁ{ﬁ
47+ 3 = 15 Remainder 2. What Is 15

[ Solve.
‘l}Eﬁ 5] 87 ?,’ﬂﬁ




Can you divide 96 by 67
96+ 6 =7

Write the division sum and start dividing from the highest place value.

1 Step |
6/ ( zjf' Divide 9 by 6.
= 9 is not completelydivisible by 6.
3 6X]1=6and9 -6=3.
| & Se, we are left with 3.
6,) 96
=5 | Step 2 |
36 el
- 36 Bring next digit down,
: Divide 36 by 6.

6 X 6=36.

Remainder is 0. So, 96 is completelydivisible by 6.
96 + 6 =16.

Divide these numbers.




Exercise 3.4

1. Recall your tables and complete the following:

a) 16 +4 = b) 36 + 6 =
c) 28+ 7 = d) 56+ 8 =
e) 18+ 9 = f) 12 =9 =

g) 15+ 2 =(_)Remainder ()
h) 25+ 5 =(_ ) Remainder [ )
) 20% 3 =) Remainder ()
D 28+ 8 =(_) Remainder ()

2. Find the quotient in each of the following:

a) 4 J 4y b) 2 J g2 c) 6) 84



900 000
A /_\

/) \_/
OOE OOG

3. Work out the outputs in each of the following.



3.5 More about division
Let's divide 189 by 9.

Write the division sum and start dividing from the highest place value.

1 is smaller than 9. We cannot divide 1 by 9.
So, we will take one more place value and divide 18 by 9.

2 Step |
9 ) E? Divide 13]:_79.
= 9x2 =18 Se,
—— :

189 =2

You can see that we put 2 in the tens column. Which means 20 times 9 is 180.
Let's bring the next digit down.
21
9 J 189 Step 2
- 18

09
= 9

189 +9 =21

Sobve the following: . =3 4304




335 books In two shelves. How many books will she

lara wants to put
she wants equal numbers of books in each shelf?

out in each shelf if
335 +2 =7

Nrite the division sum and start dividing from the

Jighest place value of the dividend.

Step 1

167
2 J 336 ETBP_S :
g 5 Bring next digit do
12 . Divide 15 by 2. ;
156 2% 7=14%and 16— 14=1
- 14 |
1 Remainder

There will be 167 books on both shelves. And 1 book will be left.



Let's divide 18348 by 4.

Write the division sum ond start dividing from the highest place value. We will
keep divding untill the remainder is less than the divisor.

4587

4)(?343
- g

n B3
W W O Lo
P R PRS E

O oo GO

Remainder is 0. We can see that 18 348 is completely divisible by 4.
18348 + 4 =4 587

rSnlvl'l'hlfulhwhg:
4 J5544 6385 ra £




Let's divide 195 by 13.

195 + 13 =7

Division by 2-digit numbers is similar to division by 1-digit numbers.

Write the division surm and start dividing from the left side of the dividend.
Wa cannot divide 1 by 13 So, we will take one more place value and divide 19

by 13.

1 Step |
13 5 Divide 19 by 13.
e 13X1=13and 13X 2=26
65 Since, 26 > 19. So, we will go
with 13x 1 =13
and 19-13=6 _~
16
13) 195
—_I_.E..é— down. Divide 66 by 13
_ We can try multiplying 13 with
0 differant numbere untill we find that

Hence, 195+ 13 =15
"Solve the following:

11 J231 15J255




Exercise 3.5

1. Solve the fellowing:

a) 4)848 b)5 J2585 ¢) 7J798

e)2 J1458 e Joase a)13)221

2. Find the remainder in each of the following:

a) 6 J/BY48 b) 5J1654 ¢) 3)698

d)3J98s56

h)11) 671

d}EJEE'?



3.6 Division problems in daily life

a)

b)

d)

Sara has 32 toffees and she wants to share them equally among her 4
friends. How many toffees will each friend get?

To know that, we will divide 32 by 4

32+ 4=7

8 4341414

iy £3838383
= £1313L3

Each friend will get B toffees. !!:}! !! i

Rs. 360 is distributed equally among 6 people. How much money will

each person get?

Ali's uncle makes a glass of mange |uice using 5 mangoes. If he hos 35

mangoes how many glosses of mango juice can he make?

Miss Amna brought 320 ballocns and distributed them among 8 students.
How many balloons did each of them get?



CHAPTER 4: FACTORS AND MULTIPLES

4.1 Divisibility rules

A number Is completely divisible by another number if remainder is 0.

A whole number is divisible by
. if the last digit is O or divisible by 2 (even). For example, 54, 98, 22 and 20

if the sum of ite digita is divisible by 3, For example, 291 (2+9+1=12)

if the last digit is O or 5. For example 590, 6815
Let's check

Is 81 divisible by 37
Yes, because 8 + 1 =% and 9 ia divisible by 3.

Recall 3 X 3 =9.

Is 250 divisible by 57

Yes, because the last digit is 0.

il ™

Circle the numbers divisible by 2. 29 32 51 761 882 1000
Circle the numbers divisible by 3. 24) 33 81 100 1101 1211
ls 341 divisible by 27

Is 2565 divisible by 57

“ w




A whole number is divisible by

if the number formed from the last two digits (s divisible by 3
For example, 112, 1308, 2520

114, 3312

. " if the last digit Is 0. For example, 110, 28900

Let's check

n if the number is divisible by both 2 and 3. For example, 12, 24,

ls 1124 divisible by 47

Yes, because the number formed from
the last two digits is divisible by .
Recall4 X & =24.

Is 1550 divisible by 107

Yes. because the last digit is 0.

il )

Circle the numbers divisible by 4. (12) 35 344 748 4112

Circle the numbers-dvisible by 6. §2) 33 312 902 3114

ls 2516 divisible by 47

Is 33 divisible by 67

Is 10005 divisible by 107




Exercise 4.1

I Which of the following numbers are divisible by both 2 and 37

2. Look at the following numbers:

151 [1665 | [5892] [26000 [120] [Tese

2680] [10005] [ 141| [1820] [e328] [Ginig]

Which of the above numbers are

a) divisible by 27 “ "

b)  divisible by 37 " __'F
c) divisible by 47 j'

d)  divisible by 57 ”

e) divisible by 67

f}  divisible by 107 ”
g)  divisible by both 2 and 47 "

h) divisible by 2, § and 107




4.2 Prime and composite numbers

Prime number Is a number that can only be divided exactly by 1 and itself.

Think abeut number 3.
It can only be divided by 1 and 3, without leaving a remainder.

3 is a prime number.

Some other prime numbers are 2,5. 7. 11 and 13 ete.

Composite number Is a number that can also be divided exaclty by any
number other than 1 and itself.

Think about numbar 4.

0 and ith
It can be divided by 1, 2.and 4 without leaving a and 1 are neither

prima nor composife.
ramainder.

4 is o composite number.

Some other composite numbers are 6, 8, 9, 10 and 12 stc.

L

Exercise 4.2

Identify prime and composite numbers and put them In correct

boxes given below.

1 2 3 5 6 6 T 8 9 10
11 12 13 14 19 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30

Prime Numbers Composite Numbers

2 3 4




4.3 Multiples

Let's find multiples of 3 using a number line.
+3 +3 i +3

¢ } + t
o 1 2 @ 4+ 5 ® 7 8 (9
Start from O and count on in 3 equal stepe. You will find multiples
of 3.

Below we have first three multiples of 3 biscuits.

3x1=3 dx2=6 3 x3=9

3, 6,9, 12,15, 18, 21, 24, 27 and 30 are first ten multiples of 3.




Let's find multiples of 4.

+—t i ¢ . } . y ey 4 $ + -
o 1 2 3 ®Ws 6 7 (® 9 10 1 (2
Recall the multiplication table of %
4x 1= 4
4% 2= 8
4 %3 =12
4 x 4% =16
4 X 5 =20 — 5 4.8,12,16,20,24,28. 32, 36 and 10 are
X &6 =24 the first ten multiples of 4.
4 %7 =28
4% 8 =32 Table of 10
4 x 9 =36 e e
10x 1 =10
4 %10 =40 10:%: 2 =90
Let's find multiples of 10 10 x 3 = 30
10X 4 =40
10, 20, 30, 40, 50, 60, 70, 80, 90 10 X 5 = 50
and 100 are the first ten multiples of 10. 10X 6 = 60
0% 7 =370
[s 75 a multiple of 107 10 X 8 = 80
75 is not a multiple of 10 because it is not divisible 10 x 9 =90
10 x 10 =100

by 10. Recall divisibility rule of 10.

-

Cemplete the following:

a) multiples of 2 ] 2 || % "—‘ l |

b) multiples of 6 | 6 | /12 s jf il




Exercise 1.3

1.  List first 10 multiples of the following numbers:
o) 2

b) 3

S

d 5

e) 6

n 7

g) 8

hy 9

2. Circle the multiples of the numbers shown on the card.




4 4 Factors

Let's arrange 8 balls in equal groups.
There is more than one way to do this.

@ggo,’@m il | group with B balls in it.

iX8=8

aaaa &aog . S 2 groups with ' balls in

each group. 2X4=8

ea a* Qa OQ __, ‘tgroups with 2 balls in

each group. 41X 2=8

’l Q &Ig al 0 el el___, 8 groups with | ball in

each group. EBX 1=8

The number B can be divided by 1, 2, % and B without leaving o remainder.
1. 2. 4 and B are called factors of B.

Factors of any number are the numbers which divide the given number
mm-nmdmdgu number by ﬂ:w the remainder is 0.

List the factors of 40.
Start with the smallest number and find all the numbers that divide 40

completely without leaving a remainder.

H0=1 x40

40 =2 x20

40=4x10

40=6x 8 Stop listing when numbers
.WH B‘: 5 start fo repeat.

The factors of 40 are 1,2, 4, 5, 8, 10, 20 and 40.



ls 3 a factor of 257

25 cannot be exactly divided by 3
It leaves | as a remainder.
So, 3 is not a factor of 25,

Exercise 4.4

1. Write factors for each of the following numbers:

a) 12
1 x 1238000888008 s
X SIS S
S S
' XXX
X ‘T X
S X XN
The factors of 12 are __1 : : . ond _12 .
b) 20
e FFFISFSFIIFEIIIFTEFITIEIIGTES
X S0
SESSSSSSHE S
‘T Y]
__ X eesse
' T X RN
' T EREE]
The factora of 20 are , ) ) . and




f)
g)
h)

4,

a)
b)

Fill in the missing factora below.

- B7— o N vt I

e, )0 )
W=l S Jal 18
32=1,(_).4(_J. 16 32

s0=12(_).C )L ).50

. Write all the factors for the numbers given below.,

3

9

11

21

24

28

36

42

Answer the following questions:

Is 5 a factor of 357 Explain.

Is 8 a factor of 417 Explain.




4.5 Prime Factorization

We can express a number as a product of its prime factors,

Factor Tree Method

Find prime factors of 27.
Start with the smaollest prime number that is a factor of 27.
27 is not divisible by 2. It is divisible by 3.

So, we divide 27 b'f 3.
Recall 3X9 =27 . Write 3 and 9 a= two branches of 27,

3 Is a prime number. So, we have one prime factor.

9 is not @ prime number. So, we further factorize it.
Recall 3 X3 =9 Write 3 and 3 as two branches of 9.
We get two more factors as 3 X 3 3X3x3=27
S0,27=3X3 X3

Writing @ number as o product of its prime factors is called prime factorization.

o

Find the prime factors of the following numbers. b

36




Division Method

We can alse find prime factors using division methad.

Find prime factors of 18.

Start with the smallest prime number that divides 18 completely.
3 is the smallest prime number thot divides 18 without leaving a remainder.
Recall 1B +2 =9

Se. we write 2 on the left side of 18 separating them with

a line. 2 Is a prime factor of 18. 2 18
9 is not a prime number. ?
3

2X3x3=18

So, we divide it again with the smallest prime number that divides it completely.
Recall ? = 3=3.
3 is a prime number.

We keep dividing untill we get all prime numbers.

So, prime factors of 1IB=2X%3 X3

rFinn::l prime factors of the following numbers using division method. 1
3 27 48 99
9
A%X_X__ =27 _X__X__ =99
_X__ XX X __ = 4g




Exercise 4.5

1. Find the prime factors of the following numbers using the
factor tree method.

a)

2. Find the prime factors of the following numbers using division

method.
a) b c)
20 60 32
X X = 20
X X X = 60
X X X X =32




1.6 Common multiples and Least Common
Multiple (LCM)

Can you find commen multiples of 2 and 37

Let's write firat ten multiples of 2,
2 4% 6 B 10 12 14 16 18 20

Let's write first ten multiples of 3.
3 6 9 12 15 18 21 24 27 30

You can see that some numbers are multiples of both 2 and 3. We call them
commoaon multiples. Let's circle common muhiphﬂ of 2 and 3.

Multplesof2. 2 4 (B 8 10 @ 14 16 @ 20
Multiplesof 3: 3 (® 9 (@ 15 @ 21 24 27 30

Commeon multiples of 2 and 3 are 6, 12 and 18.
6 is the smallest number which I @ common multiple of both 2 and 3.

It is called the lowest (& least) common multiple (LCM)

To find LCM, we follow the following steps.

=,

Find the first two common multiples of 4 and 5. Identify the LCM.

Multiples of 4

Multiples of &

Firgt two common multiples of 4 and 5§ are| |and

The LCM of 4 and 5 i=




Exercise 4.6

1. Write the multiples for each number given below. Circle the
common multiples and find the least common multiple (LCM) for

each pair of numbers.

o (2](¢)

Multiples of 2

Multiples of 6

LCM i

)

Multiples of O

Multiples of 7

LCM siominntel

<

Multiples of 2

Multiples of B

LCM ET

a (1)(e)

Multiples of 4

Multiples of &

LCM ——

9 (J(8)

Multiples of 6

Multiples of &

LCM a1

" ()0

Huhipha of 3

Multiples of 9

LCM —



4.7 Finding LCM using prime factorization

We can alse find LCM using prime factorization method.

Let's find LCM of 6 and 8 using prime factorization method.

ﬁ}ﬁ-
Write prime factors of both numbers.

Prime factors of 6 =@ X 3 n
Prime factors of 8 ={® Xx 2 x2

. ©OLONO

Find the commeon factors.

Common factors =2

wiE
-6 Write the factors, which are not common.

Remaining factors = 3, 2, 2

.
h‘ Multiply factors from step 2 and step 3 to find LCM.
ICM=2x3 X2 x2 =24

Find LCM of 18 and 27.

18]
Prime factorsof 1B = 2 Hii,—i‘}l{i'ﬁﬁ' a ‘o

Prime factors of 27 = @ X3 X 3 ‘o ‘9 e -e a

Commeon factors =3, 3 (Write all occurances)

Let’s follow the steps we have learnt,

Ramuming factors = 2. 3

ICM=3x3x2x 3 =54



Exercise 4.7

I. Find Least Common Multiple (LCM) of the following pair of

numbers using prime factorization method

°) (6)(10)
N N

LCM

¢) (16)(28)

LCM

e) (60)(10)

LCM

b} C2) R
) @) @)

LCM

o
1

18

ACIO

LCM

LCM



4.8 Common factors and Highest Common
Factor (HCF)
Can you find commen factors of 12 and 187
Let's write factors of 12. h : tors of 13
1 2 3 % & 12 j | x18=18
Let's write factors of 18. Bl ae 9 3 lﬂ'

1 2 3 6 3 I8

You can see that some numbers are factors of both 12 and 18, We call them
comman factors. Let's circle commen facters of 12 and 18.

tactors of 12 @ @ @ t @ 12
Factars of 18: (D @ @ @ 9 18

Commaon facters =1, 2, 3, 6.
6 is the greatest number which Is the commaon factor of bath 12 and 18.

It is called the highest common tactor (HCF)

To find HCF. we follow the following steps. a

rFFIr':u:I the common factors of 32 and 40. Identify the HCF.

Factors of 32:] 1| 32

Factors of 40:

Common factors are and

The HCF of 32 and 40 is ]




Exercise 4.8

1. Write the factors for each number given below. Circle the common
factors and find highest common factor (HCF) for each pair of

numbers.

« (3)() 2
Factars of 3 Factors of 16
Factors of 9 Factors of 28
HCF i HCF ==

9 :

Factors of 18 Factors of 33
Factors of 36 Factors of 27
HCF N HCF P

A CBED o (o))

Factors of 6 Factors of 11
Factors of 24 Factors of 22
HCF —— HCF —_



4.9 Finding HCF using prime factorization

We can also find HCF using prime factorization method.

Let's find HCF of 6 and 24 using prime factorization method.

E;.ﬁ
6 Find prime factors of both numbers

Prime factors of & (2)

Prime factors of 24:  (2) )% 2. X2

E;]
a2 ’
Find the common factors.

Common factors are 2 and 3 ®® @Q

b'.B
H‘ Multiply the common factors to find HCF Q
gy OGO
45

Find HCF of 30 and 45.

Let's follow the steps we have learnt @ ﬂ@ QIQ
0.0)0,0,0

x@®x®

s ;

Prime factors of 30 = 2
Prime factors of 46 = 3 X

S

.;Ix

©

b

|

Common factors =3, 5

HCF =3x8 =15



Exercise 4.9

1. Find Highest Common Factor (HCF) of the following numbers using
prime factorization method.

) (25)(35) b) (s6) (11)
LR L 3 = HCF

<) (24)(44) (36) (42)

HOE._ - HCF

) (28)(32)

!

@J
®

e HCF



CHAPTER &: FRACTIONS

5.1 Understanding fractions
Look at the circle. /
It is divided inte % equal parts.

1 part out of the 4 is coloured. \j 3

We say that —1]l of the circle is colouraed.

]

—L]} is an exomple of a fraction.

A fraction represents a part of a whole that is divided into equal parts.

Lock at the rectangle.

2 parts out of § are coloured.
2

= of the rectangle is coloured.

A fraction has twe parts.

Numerator
7

=z
5

Denominator

“Look at the total number of parts and the coloured parts of the A
following shapes and write the correct fraction under each shape.




Exercise 9.1

1. Colour the shapes according to the given fractions.

2 o 3

9 8 8

2. Match the fraction with the related shape.

el
8
.
3
2
8
i iy 7= ﬁ“"'*-n
E anlie na
1




9.2 Like and unlike fractions

Ahmad's mather bought two similar cakes. |
She cut first coke in 8 equal pieces and rook | piece out. 8

She took IT of the first cake.

She cut second coke in B equal pieces and took 3 pieces out.
She took —
B

of the second cake.

-
8

Since, both cakes were cut into equal sized pieces, ‘v

denominator is same for both fractions. We call such fractions like fractions.

and 3 are like fractions.

8

Anam’s mother bought two similar cokes. 1
She cut first cake in 6 equal pieces and took | piece out. T

She took of the first cake.

She took

of the second ::ﬂl:_&-

8

Since, both cakes were cut into different sized pieces,
denominator is different for both fractions.

We call such fractions unlike fractions. 1 and 1 are unlike frnc.ﬂnna.

6 8

She cut second cake in B equal pieces and tock 1 piece out, '




Exercise 5.2

1. Which of the following sets show like fractions?

3
N
1
1
E 7
I (1[I
8
i
b
8

3 2 "
& 5 3
_ C (777
= .. B
8 T 7

2. Circle like fractions in each of the following sets,

1\/3\ 5 s ; 2 3 |
o) 7§ \:n/f 3 9 ) "8 T& T %
e -
ERISC el Sl LWE P L R
8 3 8 9§ 5 6 § 9
COed el T B i ab BB
i A iV 6 gy L SRl

»



3.3 Comparing and ordering like fractions
omparing like fractions

Look at the circle.

Sdra colours | part out of B. g

She colours Lﬂ of the circle.

Ahmed colours 3 parts out of 8. 3
8

He colours —g- of tha circle.

Each part s of the same size. So. 3 parts out of 8 Is greater than 1 part out
of 8.

©- &

8 B

% is greater thon — .

8

"
Compare the fractions using symbols of "< or o I
L b 5 =k 5 2
3] ] 7 7 3 3




Ordering like fractions

Ali, Ahmad and Sara bought a cake. Ali ate L of the cake, Ahmad
ate £ of it and Sara ate 2_ of it. Who ate the most cake?

8
1 5
8 8

Denominators are same for all fractions. So, we will com pare the numerators.

5 is greater than 1 and 2. Se, 2 is the greatest fraction.

g8

Ahmed ate the most cake.

Let's arrange these fractions in ascending order.
Write the amallest fraction first and the greatest fraction at the end.

e e B Recall if you write the smallest number
B 8 8 firat and the greatest number at the
»

end, it is called ascending ordar.

1 3 2

Arrange ;i and = in descending order.

3
—— is the greatest fraction. We will write it first. ._:T s the smallest

fraction. We will write it ot the end.

S— Recall if you write the greatest number
S \ ‘ 2 ‘ 1 | firat and the smallest number at the
/ f ! end, it ia colled descending order
+

f
Arrange the following fractions in ascending order:

1 4 3
& 9 5
Arrange the following fractions in descending order
1 7 4
9 9 9




‘xarcise 5.3

K

a)

d)

Tl

b)

Compare the fractions using symbols of "<"or ">

1
G

z
=i R

mlm

2 1 3
5 oL+
2 6 %
= N = | =

Arrange the following fractions in ascending order:

mlm

o

t-:l':"

3
8
1
5

2.
13




0.4 Addition and subtraction of like fractions

Ahmed ate —— of a cake. Sara utu—g of a cake. How much did they

eat altogether?

S+ K+ - €+

Both fractions show that the cakes are divided into same number of aqual

sized pleces. So, we can simply add 2 and 1.

To add the fractions with same denominators, we simply add the

numerators and put it over the same deneminator.

So. 1 £ TR B

Ahmed and Sara ate ug— of the cake.

Ali colours =9 of a circle. He then erases i of it.

How much fraction of the circle is left coloured?

Let's subtract —'5?-— from i

Both fractions show that the circles are divided into same number of equal

sized parts. So, we can simply subtract 2 fram 3,

Te subtract the fractions with same denominators, we simply

subtract the numerators and put it over the sama denominater.

3.2 _8-2_ 1
So. =5 5 5 5

_.é.._ of the circle is left coloured.



Exercise 5.4

1. Add the fractions and colour the figure.

-

—— —— b —

6 (s} &
2. Find sum of the following fractions:

f—‘

(B
oh
+
I

c) + g d)

oo

2
O | G
+
on | —
Il
[
Z
]
+
=
]
0O

[

3. Subtract the fractions and colour the figure:

. u
7 2

————— — o

8 B g
4.  Find the difference between the following fractions.

2
“]i':]al.:o BT
sHepRAU . L

U O

oo
oo <=



5.5 Multiplying whole number with fraction

Recall that If we multiply any number by 1, we get the same number.
1 X3=3 , 5%x1=5 et

Similarly, if we multiply any fraction by 1, we get the same fraction.

| “ T8 3 3 5 5
— X = <2 2 1 =2
2 g b e RIS ad =Kl -3

Let's multiply % by 2.

We know that multiplication is repeated addition. So, we will add -.é._

two times,
X 2 =
A oy
3
1 2
8o~ =
o 3 X 2 3
Let's find % X 3.
We will add %thma times.
2 2 2 24242 _ 6
7 o el eSSy

Complete the following:

4 =)
+-000000

e




We have learnt to calculate the product using repeated oddition.

i 3—_?__4._2..-1- 2 =E+E+2 =i
7 Ty 7 7 7 7

Let's also calculate this product expressing whole number as @

fraction.

3

dissameas

1

; 2 3
fi i —i
Let's find 7 4 ]

To multiply fractions. we multiply numarator
of one fraction with the numerator of other
fraction and denaminator of one fraction

with the denominator of other fraction.

2 .8 _ 2x38 _ 6
7 1 T %1 T
Find 3 X —S_
3 7
A a8 e SX8 o 7
1 7 1 %7 F
If' .t
Find the product of the following:
1 _
b e
4
2 X5 =




Exercise 5.5

1. Multiply the fractions by the given whele number and colour the

figures.

b)

5
n
[
+
+
4
+
I

-
l 1 1 =3 2
a) 2 X — = + ==
SICEE J-&
-
5}51.;_12T= ]: I
L
3 'S ™ A
¢]-'3H-'1‘ﬁ—= =
\ J (S
1 =0 i
d]ﬁx-"-z'—= =
S S —
i ~ ™ a
BJEHT= 2
\ 4 I
] g ™ o
f]?K—B-= a
. S S




3. Convert the whole numbers into fractions and find the

required products.

1 (2 1 2 X1 9
X
e ES x = =
a)2 X3 I 3 I X3 3
, .
" B
7 N, .
2 i b
c]?HE=
e A

oo J

4. Solve and match the product with correct answer.

&
U} 2:‘3\ 7
2
3
2,

S
b) 6 X 6
H_
¢) 3 3
1 5
4 BT 6
A
5 wia, 5 ®
13 1



0.6 Division of a fraction by a whole number

Divide .%_ by 3.

We have to divide % by 3

Let's aph’f-—%- inte 3 equal groups.

Each é is now divided into 3 equal parts, %

Now, the total parts are 6 and one part out of 6 is T <

Sﬂ. L _.:_. = _I._
7 "3 ,
Which means if —L_of a cake is divided inte 3 children, sach child will get

1 of the whole cake.

Divide —— by 2

L 3

Dividle: mich —— irifa two equal parts.

l.!
Each part now is ; of the whole.



Divide the fractions by the whole number and colour the figures.
+ 2 - _L J
——— _— —t
! o
= 3 Lsse J

1 L5 =L
Waea saw that: > ™ 3 s

. This means dividing a number by

If you multiply _%_ by % . you get
another number is same as multiplying by the reciprocal of that number.

Wa can also say that multiplication ia the Inverse of division

To divide é by 3, we will take reciprocal of 3 and multiply the fractions.

- The reciprocal of a number is|
3
@Tﬂkﬁ reciprocal of the whole numbar I divided by the number.

Reciprocal of 3 is +3 Number Its reciprocal

<%
5/
o
@Mulﬂply the fraction with the reciprocal of the whole number
L R 1 1 1x1 1
B 2 3 2x3 6

'

Solve the following:

1 1
—_— Y= X —_— = X =
“ 7 =2




0.7 Equivalent fractions

Look at the circle, ;
It is divided into 2 equal parts. "2_
% of the circle is coloured.

MNow loak at this circle.

It is divided into % equal parts. i
2 4

of the circle iz coloured.

You can see that the area coloured in beth circles is same.
Thta: rebipcicip ) and f‘; are equal.
1

L€

2 4

We call such fractions aquivalent fractions

Equivalent fractions are fractions which have different numerators
and denominators but have same value.

-
Which of these pairs show equivalent fractions?

o€

3 6 4 8




Look again at these fractions.

b 2

2 4

fou can see that to gqo from é—m % we just doubled the numeratar and

D B

T you multipl:.r—-—lE-—- b‘;‘i. you get -% . which Is equivalant to =

2

Nhen you divide your circle in twice number of parts, you have to take twice

the denominator,

wmber of paris out to get the same fraction,

[his maons wa can multiply numearator and deneminater of a fraction with

wamea numbar and we will get an egquivalent fraction

2

-et's multiply --%-*by —_

o8 PN &

\...___/'

x2 - X
ou-con g4 that —2 .and —1_ also represent same fraction,
ke et @ il
2 4

&
A



2

Find equivalent fraction of -+

Let's multiply -% by —g—
- EID-
& e & 2 6
5 15 5 15
\'\__,-/

X3

You can sea that —g—w and -—]E:j—rapmsenf aquivalent froction.

Find the equivalent fractions for the fractions given below and
colour the figures,




Let's find equivalent fraction of o

6

Wa know that we can multiply the numerater and the denominator of a fraction

by the same number and get an equivalent froction.

Let's multiply i by _E._ :

6 2
X2

P ™S

f 12
S

X 2

Now, we have 12 parts and 8 out of them are coloured.

You can see that the coloured part in

ond —8_1s exactly the same.
6 12

We can also divide the numerator and denominator of a fraction by the same
wmber and get an equivalent fraction.
T
4 i p
-2

Jow, we have 3 parts and 2 of them are coloured.

‘ou can see that the coloured port is the same.

2 i
6

.
s

g

12



Look at this equivalent fraction pair. Can you find the missing

ber?
o T—

3 b
We know that to find equivalent fractions, we multiply or divide numerater and

denominatar of a fraction by the same number.

Recall your tables. To get & from 3, we will multiply 3 by 2.

3 times 2 ia 6.

X 2
T\:/T
X2
| times 2 ia 2,
i is the required equivalent fraction.
Il" !
Find the missing number in each pair of the following fractions:
N T e _ U LS. 0
3 ¥ 5 10 4
e e B 2 - i S .~
5 7 14 2 6




-xercise 5.7
I.  Find equivalent fractions of the following and colour the figures
b)

I
Il

e
| [ ] 1 = =

R — ——— =

2 10 3 e it

Find equivalent fractions for each of the following by multiplying
or dividing the numbers given:

Bl

1) X2 b) X3 e) X4
ER i, R Lot o BRI T,
&. = 7 5
N . U
X2 X3 X4
1) +3 L4 ;)
o, IS e = s
9. e 15
\-.—;"'D \____L;.,»'D \_/D
3. Find the missing numbers in the following pairs of equivalent
fractions:
CI:] | = 9 b} —2- = ~[~:—[ c} _1-. — _.IE
5 C] 8 1 3 ]
6 36 8 _ 32 6 _ [
)< = ] ) 5 = ] R T



0.8 Comparing unlike fractions

Which fraction is greater, _é or % T

1

—— an are unlike fractions. i S
? s il 6

To compare them, we will first convert them to like fractions, which means

both of the fractiona should have the same denaminator.

Look at the fractions again. ] 4

2 is a multiple of 6. ¢ 6

Recall that 2 times 3 is 6.
This means we can write an equivalent fraction of —]—~whi::|'| has the same

4 3

denominator as . by multiplying b T

2. 3
X3
. ST <
2 6
. WERE" 4
3 4

%3
Now, we can compare % and i : 6 6
3 4
3 € 4 So—m<——,
76 6
Therefore, we can say that é < :

Which fraction is greater, % or % ?




LD
3 H |

0 3

Nhich fraction is greater, _g_ or

3

—~_ oand —t- are unlike fractions.

Ne have to convert them to like fractions to compare them.

_et's try to find @ common denominator for both fractions.
ook at the denominatars 5 and 3.

ecall the first few multiples of 5 and 3.

Multiples of §: 5. 10, @, 20
Multiples of 3: 3,6, 9, 12.@ 18

5 ia the Least Common Multiple. LCM will'be the common denominator.

s 1 4 a1 _ B

B 15 3 15
.at's find the missing numbers now.
X3 X5
P e S
® _Ye . e
5. alb 3 15
- N
X3 X5
Now, we can compara — and 8 .
15 15
9 5 >
N,
15 15
S0, S >0 5
5 3 15




Exercise 5.8

a}

d)

g)

Compare the fractions using symbels of “<” or

1

—

2

o

ol
l.I.

b)

]

2

3]

8

c}

-

9

sle




5.9 Addition and subtraction of unlike fractions

Whutlu%+~—é— ?
+
|

2 8
Recall that same sized or like fractions can simply be added by counting the

number of parts in the numerators.

Look at the figures. Parts in both shapes are of different sizes.
So, we cannot simply add them. We will first have te convert them to same

sized parts or like fractions.

L
2
LCM of 2 and B is 8.

Since, . We can add
2 8
4 1 _ B
5 T T8 8
S0, 1 I 1 = 9
2 8 8
Add -1 and 2.
3 15




Let's add g and i =T

59" % 3
Since, the fractions are unlike fractions, we will
convert them to like fractions. ._:;_ —_—

Let's find LCM of 9 and 6.

Multiples of 9: 9,(18) 27, 36
Multiples of 6: 6, 12,(18) 24

18 is the LCM, which will be the common deneminator.

¢ & @

4 OO 4 o _0
9 18 6 18
Let's find the missing numbers.
X2 X3
4., 1T N
g UIE 6 UIE
X2 X3
8 3
8 and 8 are like fractions. -
B ;.8 =1 r =
18 18 18
e T 8 18 18

Add L. ond 2.
3 5




Let's subtract % from i

9

The shapes do not have equal sized parts. So, we

cannot subtract %frnm —;— directly.

We will first convert them to shapes with equal sized parts or like fractions.

Let's find equivalent fraction for both 1 and L such that they have a
common denominator. o E

Multiples of 5: 5, Lm‘ﬁ 16, 20, 25
Multiples of 2: 2, 4, 6,8.(10)

10 is the LCM. So. 10 will be the common denominator.

 _ [ 1 L]

and —_— =]

5 10 2 10

Let's find the missing numbers.

X2 ) &+
/..-ﬂh-\ /'#_-‘\x
i = i and _].. = _.E._
5 1 2 il 10
R ~—

) § x5

5
Now, we can subtract from 8 by just subtracting the numerators.

10 10

t-5-5 Ao @5
'ﬂl" ﬂl‘

’D ID 10

—
10



Exercise 5.9

1. Find the sum of the following unlike fractions:

2 1 1 3
AETE" b S =

0 O

2 3 ;1
L +
3 9 7§ T3

m[_
0 O

2.  Find the difference of the following unlike fractions:

] |
0 2-L -] q =]
8 Bl e
i il ] @ +-+-J



5.10 Improper fractions and mixed numbers

Look at the following shapes.

3 7

+ —r— —

i i

£ 8
L!.

_numerator is greater than the denaminator, Such fractions

are called improper fractions. _-E;— is an improper fraction.

In fraction

A proper fraction has a numerator that is smaller than its denominator.
An Improper fraction has a numerator that is greater than its denominator.

Look at the shapes again.

i 3
. g
This is 1 whele circle.
LI.
s =y 1
i | -2
We can also write it as o mixed number. / 1 \I
There is 1 whole circle and —3— of a circle. whole number proper
4 fraction

3

1 N is an axample of a mixed number.

A mixad number is made up of a whole number and a proper fraction.




Exercise 5.10

1. Write the improper fraction and mixed number for each of the

following.

90@

ml:
1]
(]

ch|m

| = O
b) .E O =0
08
N T




9.11 Converting fractions

Let's convert a mixed number 2 —; to an improper fraction directly.

]

2

We will convert the whole numbars Into fractions with some denominators as

1 + 1 ¥

E .
ol
L
2

that of proper fraction and add all fractions.

B g =" W = i
2 ¥ 2 * 2 2

We can also do it mathematically by following these steps.

Multiply the whole number part by the denominator of the

fraction.
oL —5  ax2=y
e 2
Li Add the product to the numerator,
™ -
e 2 g H41=5H
Write the result as a numerator over the same denominator.
i & 9
2 5 5
Convert the following mixed numbers into improper fractions:
sl _ 13 . o1 o O
# e 8 [ 2 []
;¢ L] y _ O 3 O
3 3—=—= gt =
] e 5= O




Let's see how we convert improper fraction to mixed number.

Look at the circles below.

13

T of the circles are coloured.

Let's convert this improper fraction to mixed number.

Divide the numerator by the denominator.

13

——=2 with a remainder of 1

6

Write down the quotient as a whole number.

Write remainder as o numerator over the same

denominator




-HAPTER 6: DECIMALS AND FRACTIONS

5.1 Decimals
Jnderstanding tenths

-ook at the rectangle below.

&t s divide it in 10 equal parta and colour one of them.

Ve have coloured one part out of 10. That is % or one tenth of the
uciﬂ_ngli.

%— Is amaller than 1 whale. You con see that 10 one tenths make 1 whole.

1@ 1 g 1, Uy 1T o1l o1y
0 10 10 10 10 10 10 10 10 10

]
10X =1
ecall the ploce value chart.

2 show one tenth of a whole. we will add another column of tenths in it.
ince, one tenth la smaller than ane, we will add the column on the right side

fter a decimal paint.

Ones |*| Tenthe 1
= > 0.1
. ¥ oo
whole number part fraction part
0 . 1 decimol point

he decimal 0.1 has O ones and 1 tenth. We read it as zere point one.




4 aut of 10 parts of the circle are celoured.

b sne *tanths of the c¢'rele are coloured

S I TR e

i 10 16 10 10

01+ 01 +0]1=+=01=04

4
—— ar OM of the circle Is colourad

1G

) | | | ble for d UM
Let's make a place value table for decimal U4

Ones . Tenths : |
| 9@
@®
0 . 4

In the decimal 0.4,

The digit O I in the enes place. It has o value of Q,
The digit % I8 in the tenths place. It has o valus of 0.%

We raad It as zero point four.

' Identify ones and tenths in the ralluqu decimals and complete

the place value table. I
Ones |*| Tenths

0.7 s R

0.8 s

FE

~ Write the following as decimals.

-% = 7 tantha= D zero paint f}zo




We know that 10 ane tenths make a whole.

10

!

10

10 tentha =1 sne.

If we have 10 tenths, we can regroup them into 1 ones and 0 tanths.

Step 1

Ones

Tenths

Y\

M‘i ek
OCO000

0

10

Look at the parts of circles coloured below.

Ve con also eay that 14 tenths is equal to 1 one and 4 tenths.

10

10

i

Step 2
Ones Tenths
1 0
.._.q_ = _.!ji ] i
10 10 10

.et's write 14 tenths as a decimal.

Ve will regroup 14 tenths into | ones and 4 tenths.

4 tenthe = | ones and 4 tenths

=1+04

= 1.4
56 L AL, S
10 10~

e

We read it as one paint four.




Let's write 53 tenths as a decimal.

Wa will regroup 53 tenths into § ones and 3 tenths.

Look at the place value table.

Ones

Tenths

OO0

5

In the decimal 5.3,

The digit § is in the ones place. It has a value of 5.

The digit 3 ig in the tenths place. It has a value of 0.3.

B3 tenthas = D ones + 3 tenthe
53 =5+03

We read it as five point three.

the place value table.

Identify ones and tenths in the following decimals and complete

Ones |*| Tenths
1.8 .
7.2 s
9.5 .

49 tenths = D

Write each of the following as a decimal.

-0
10

6 taiithi: = O

.,




Understanding hundredths

Look at the square.

It is divided inte 100 equal parts.

F Each part of the square Is one hundredth
1
wivee OF 8 :
or T of the whele

1 tanth =10 hundredths
1

— can be written as 0.01.

100

We read it as zero point zero one.

Can you write 4 as a decimal?
Ones |*| Tenths | Hundredths
3
55 = 0.03 i Y
0 o 0 3

Hundredths is smaller than tenths, so we will add another column of
wndredths on the right side in the place value table.

Write 1_1695 as a decimal.

Ones [*| Tenths | Hundredths Ones |s| Tenths| Hundredths
| essed-| f°
o " O 10 0" 1 0
10 hundredths = 1 tenth



Write 13 hundredths as a decimal.
We will regroup 13 hundredths into 1 tenth and 3 hundredths.
13 hundredths = | tenth and 3 hundredths

=0.1+40.03

=0.13
100

Let's now write as a decimal.

‘{‘g‘g“ = 100 hundredths = 1 cne, 100
Make a place value table for 2.43.
Ones e Tenths Hundredths
®@® | O000 | 000
2 . b | 3

In the decimal 2.43,
The digit 2 ia In the ones place. It has a value of 2.
The digit % is in the tenths place. It has o value of 0.4,
The digit 3 is in the hundredihs place. [t hos a valus of 0.03.
243 =2 +04 +0.03
We read it as two point four thres.

!

—Id-nﬂﬁ.r tens, ones, tenths and hundredths in the given decimals.

Tens Ones |[*| Tenths | Hundredths
14.13 -

2.36 .

0O %0

Write the following as decimals.

9
hE'I idradihe = [:] =




-xercise 6.1

The circle is divided into 10 parts and they are coloured with
three colours. Write the fraction and decimal for each colour.

q ‘i Ty
- - (3
L TR
( ) | I
. B

Yal ".-.l _| I
T

Colour

a) 0.4 of the figure. b) 0.12 of the figure.

P—

Write the following fractions as decimals.

| i b - nL e) —.f.-
0 _|, J 10 _. J - il _n. r
N T e o 43
T00 <L U " o5\
31 f ' 5 i \ ; 1] ' '
300 =L ) 166 ~__J " 66 = (_J



4.  Write the following as decimals:

a) Zeropeint§ =

b) Five point three = C]

¢) Two point four three = D

d) Sixty nine point three nine = D
@) Sixty one point four six - C]

f)  Two hundred and fifty seven point three one = @

3. Write the following decimals in words:

a) .31 _zero point three one. b) 2.31
€) 4.32 d) 09
°] 78.11 f) 1943

6. Identify place value of the underlined digits.

o) 12 b) 263
) 262 (: 4 W4
e) 1387 C) f) 36.8]

JUU



6.2 Adding decimals

Ahmad colours 0.3 of a circle. Sara colours 0.4 of a circle. How

much do they colour altogether?

+

0.3 O 0.7
Addition of decimals iz similar to addition of whole numbers.

Let's write both decimals according to the place value of their digits and start
adding from the right. Remember to put decimal under decimal.

Ones . Ta_n'ths Ones . Tenths
0 . ’ 3
2 4 + . Y
. b

R AR T
Can you now add 1.7 and 6.57

We will follow the same steps.

®

Ones . Ta nths
1
6

-
—il
o
=
=5
=
o

The anawer Ia 8.2



Add the following decimals:
3 . 4 3 . 0 b , B
+ 2,2 +8 .7 +3 . &
Let's add 2.86 and 4.34

We will write both decimals according to the place value of their digits and

start adding from the right.

@

~ Ones - Tenths Hundredths

Yy
7

Can you now add 32.55 and 13.517

We will writa beth decimal numbers accerding to the place value of thair

digits and follow the sama steps.

Tens Ones » Tenths Hundredtha
3 2 I - 5
" 1 3 . 4] 1
% 6 « 0 6

The answer ia 46.06



Exercise 6.2

1. Add the following decimals:

s} 0.3 b) 2.4 e] 0.34 d 4. 52
+ 0.6 + 5.3 + 0.53 + 3,24
o) 2.1 f 15,35 g) 25.09 h) 14.39
+ 1.358 +12.60 +23.93 +23.78

Y 15.37 1 28 56 k)  23.5y4 ) 47.56
+ 17.82 +a31.23 + 165.38 +34.23

2. Line up the following decimals in vertical columne and find their
sum:

a)y Q1 +035 =

L) 12+ 17 =

c] 621 + 327 =
) 1411 4 2134 =

s] 2130+ 37Ml =

o JUUUL



6.3 Subtracting decimals

Sara colours 0.7 of a circle. She then erases 0.2 of it. How much circle
is left coloured?

9"’ -

Subtraction of decimals is similar to subtraction of whole numbers.

We will write both decimals according to the place value of their digits and

start aubtracting from the right. Remember to put decimal under decimal

Ones v Tenths Ones . Tenths

- 7
" - 2
: 5 0 - 5

The answer is 0.5

Can you now subtract 11.91 from 56.34?

We will write both decimals according to the place valus of their digits and

0
0

—

follow the same steps.

Tens Ones * Tenths Hundredths
6 56 + @3 4
- 1 1 « 9 1
Y 4 . 4 3

The answer ia 44 .43



Exercise 6.3
1. Subtract the given decimals.

b) 3.67 ¢ 4. 75 d) 6.78

a) 0.9
- 0.6 - 0.563 = 237 - 3.%5

o) 8.46 £ 975 g 873 p 39.13
- 3.27 - 6.84 ~ BURH =87 326

) s50.41 ) 43.78 ¥ 8542 % 57.89
~15.32 _21.54 - 34 .68 _29.97

2. Line up the decimals according to the place value of their digits

and find their difference:
a) 07-03 = ( ol
b) 15-12 = ( |
¢) 235-111= L - |
d) 917 -523= ( )
e) 4831-2621= | ]




CHAPTER 7: MEASUREMENTS
7.1 Length

Length in metres and centimetres

We use metres to maosure length of objects.

Look at the matre ruler. It is | metre long.

This board s 1 m tall.

1a)

There are 100 centimetras in | metre,

[ =100.cm

"Centl’ in ‘cantimatras’
maang one part out of a

hundred, or 00"

| centimatre= _L_ mair=
10

We can alse say that the board is 100 em tall.

A plant is 2 m and 45 cm high.

We can write this height in centimetres as wall.

2 m 45 cm = 2 m + 45 om (1 m=100 em
e .n
= 200 cm + 46 em 2m=7
o Count in hundmeds.
= 45 em ~
100, 200
So, the plant ja 245 cm high So. 2 = 200 am




Can you convert 508 cm to metres and centimetrea?

{ |- g, o -L...-; - + E_ T ¥
‘.'-'"‘“l“'rr'r ’ 100em=1m
=85 m +8em So. 500 em =8m
=5mBem
Convert the following lengths.
i 781 em = om + cm Ymled crr-=| o+ 1crn
I = m + am =| cmT CIm
! . m | | am :'[ I
|
% -

Length in centimetres and millimetres

“or ameller ghiscta, wa use centimetres ond millimetres to measure the

o

Lnam wants to meaeyre the length of her pencil

g can use a ruler to measure the langth
I .*'“.:i‘ Il |||:|| [T |||i..|!||| |ih||| i||l!| m ||| T
S S S A | L

he pancll 12 B centimetre long. We con aleo write it s B cm

I s

i kL ] ]

I
7

Look at your ruler. |I|[H“”II
|

Thers dra 10 squol ports batween O om and 1 em on

|'Di.'.l'l"| ]

5 ruler, Each part ia 1 millimetre long. We can alse

§
e 1T ga- L ™Tmm

So, there are 10 mm in 1 em.

!!m‘l‘i:ﬂ]ﬂ mm-_]




Ali measures the length of his eraser. M 1 il tres”
The araser is 1 ¢m long. means one part out of o
We can olso say that the eraser is eand 1000

1I¢:: mm fong. 1 mullsm.:rn.:mmm
‘ ”I ”! ‘lllfll IR TR TN

PO - e R N R N e

We also use millimetres to measure objects that are small

or nat exactly at the centimetre mark on the ruler.

Let's measure the length of this nail.

—
IIIH|HHIIIIIIIHJHIIII!III|HJ||IHI|||I||I1||]||H|IIII|II ||I|[I]||IIJIIJ|||||f]||||||l|

Ocm

The length of the nall is between 5 cm and 6 em.

We can see that it is 3 mm longer than 5 em.

So, length of the nail is § em 3 mm.

We can also write this length in millimetres.

g
S5em3mm = Sem+ 3mm lem =10 mm

- o S5em="7
= 80 mm+ 3 mm Count in tens.
= 53 mm HD, 20,30, 40, 5.

The length of the nail s 53 mm. L-Eﬁ' 9em =50 mm }




Sara measures the length of a chalk. The chalk is 15 mm long.
Can you write It In centimetres and millimetres?

15 mm = .IE,_"E + S mm We can regroup 15 into 10 and 5.
=lem+ §mm 15=10 +5
=]lemHmm And 10 mm =1 em

The langth of the chalkis 1 em & mm.

(Convert the following lengths:

42 mm = mm+|  |mm 5::m2mrn=:cm+[:]mm
W R cm + mm =l |mm+ mm
= cm i i mm =| [mm

% J

Length in metres and kilometres
Kilo" in ‘kilometres’

means one thousand
or 1000,

For lengths, much greater than metres, we use
kilomatras.
Kilometre is used to measure distances from one

place to another.

housond mafréa in one kilometre

1 km =1000 m

The distance between All's house and hia school is 1 km.

We can also say that the distance is 1000 m. -y




The distance between school and railway station is 5 km 200 m.

m

Let's convert this distance into metres.

S5km200m = Skm+200m
ik |
=5000m+ 200
= 5200 m

m

[ 1km =1000 m

S km =7

Count in thousands.
1000, 2000, 3000, 4000, 5000

\ S0, 5 km =5000 m

v

The distance between two towns is 7 400 m.
Can you convert thia distance into kilometres and metres?

THOO0 m=7 000 m+ 400 m
ey e
=7 km + 400 m
=7 km 400 m

7 000 and 400,
7400= 7 000

[ We can regroup 7 400 into |

+ 400

And 1000 m =1 km
Se, 7000m =7 km

3050 m = m+C
o
krn

L Jm [

m

m

[Convert the following distances:

km 120 m=

km+

I

m+




Exercise 7.1

1.  Maotch with the correct answer.

5 km 17 000 m
12 m 1200 em
10 em % 400 em
41 m 40 mm
17 km 100 mm
t m 5000 m
4 em 4100 em

2 Colour the matching measurements with the same colour.

500 em 9 km Tm 700 em

9 000 m 2fm 2 000 m 5 m




3

I:I:i ﬂl:rn:E

g)

k)

Complete the following:

M

28 mm =

cm

b) %em9mm = Imm

Irnm d) 3lmm = e Fnrn

F} Eﬂmgﬂ':m —] |¢I'|'i

Ir:rn h) 21lem = |m] J::rn

) 9kmB00m = Im

krm

m D 4000m=[ Jm

The length of a cupboard is 2 m 55 cm. Convert this length to
centimetres.

The distance between Sara's house and the park is 2 500
metres, Convert this distance to kilometres and metres.

46



7.2 Mass and capacity

Ahmad wants to measure the mass of his pencil.

ATV i

The mass of the pencil is 3 grams. We can also write itas 3 g.

Sara wants to measure the mass of & .
a sack of flour. |

The mass of the sack is 1 kilogram.

We can also write it as 1 kg.

o measura the moass, we use |':Ii|:|gn:|rn5 for heavier objects ond grams 1of

lighter objects

é | gram é 1 kilogram

g are 1000 grar nl ko 1Iug=lﬂﬂﬂg

All measuras the mass of o sack of rice.

The mass of the sack is 3 kg.

We con also write this mass in grams.
1kg=1000g¢ *

3kg=3 X1000 g
= 3000 g



We use different weights to measure the masa of objects,

fiomm

The mass of a basket of oranges is 2 kg 500 g.

We can also write this mass In grama.
2 kg 500 g = 2kg + 500 g
sl
= 2000 g+ 500 g
=2500 ¢

.

1kg=1000g
2kg=2X1000¢g
=2000g

The mass of the basket of cranges is 2600 q.

Can you convert | 600 grams into kilograme and gramas?

16009 =1000g + 600 g *ﬁmwim]
= 1kg 600 g Mim-lm
[ Convert the following masses:
2 kg 250 g = kg + P 2500 g = g+ g
=! ' g+ ’Ir':'.} oz kg+ J‘E
= g = ks g

.. —




Capacity

We use litres and millilitres to measure copacity.
Look at this measuring cylinder.
It measures the capaeity in millilitres, The amaunt of water

in it is 800 mL.

Thare are 1000 milllitres in 1 litre.
1 litre =1000 millilitres

Sara drinks 2 L 260 mL water every doy.
Can you convert 2 L 250 ml to mL?
91 250mL =2L+250mlL
eyt
=2000L+ 250 mL
= 2500 mL

Can you now convert 3 6560 mL to L and mL?

5 660 mL = 3000 mL+ 650 mL
U
=3 L+650ml
=3 L 650 mL

rCnnHﬂ the following:
5L600 mLﬁL__L-l' —JmL 5500 mL=i:mL+E]mL
L +:’ij SR

mi: = RLE




Exercise 7.2

I. Convert the following:

al 2kg = g b) 4000g= |i-r.g

c) 1kg500g=[ |g d)  8000g=[ | kg

o) 4kg200g =jg f) 5[=__me

g) 5000 mLz[:'L h) 1650 mL = j L[ L

) 2L200mL=[ mL ) 13Ls40ml=[ |mL

2. Sara's school bag has o mass of 5 500 a. Convert it to kg
and g.

3. Thereis 5 L 200 mL water in a tank. Convert it to mL.



7.3 Addition and subtraction

Ahmad's pencil is 15 em long, Sara's pencil is 12 em long. What is

the total length of both the pencils?
C —

To find total length, we will add both lengths. =~ Te— -

15cm

o Recall the addition rules.
12em

_— We start adding from the ones column.
27 em

The total length of both pencils is 27 cm.

wudd fhe amaanr uﬂﬂrﬂF measurement ﬂmf Wu can mhr ‘add same

A tailor uses | m 42 em of cloth to make a shirt fer Aliand 1 m 20
=m to moke a shirt for Ahmad. How much cloth will he use in total?
-et's add the given lengths.

Im 4%2cm m Y42cm
+ 1m 20em + !1m 20em
62cm 2m 62cm

EP \,,’Ep )
- Add the centimetres. 2 Add the metres.
42 em+ 20 cm =62 cm Im+1lm=2m

he tailor will use 2 m 62 em of cloth to make both shirts.

Add the following lengths:
3m 2cm 2m 52cm Gm 7Tlem

+4m 3em + Bm 19%em + Im 12cm




A shopkeeper has 38 m long rope. If he cute 12 m out of it, how
much length of the rope will be left?

Let's subtract 12 m from 38 m.

38m
- 1%m Recall the subtraction rules.
T Wae start subtracting from the ones column.
m

The length of the rope laft is 26 m.

Let's now subtract 1 m 26 em from 2 m 41 em.

IE_-l 3‘)11 em

Emaﬂllum rm
- 1Im Eﬁcml "‘Im{ 2 6cm

15em Im 15em

The answer is Im 15 em.

Subtract the following lengtha: 1
8m Secm 2m 6lem 6m llem
- 2m 1em — Im 12em —2m 10cm




A bus travelled 1 km 380 m from first stop to second stop. Then, It
travelled 2 km 420 m to the third stop. , |

How much did it traval in total?

We will add 1 ken 380 m and 2 km 420 m.

Matre is smaller unit of measurement. So,
we will add metrea firat and kilometers next,
=
@
1 km | 380m 38B80m
+ 2km 420m -+

420m
B00m

800m

.

There is 4 L 850 mL water in a bucket. 3 L 840 mlL wos removed
from It. How much water is left?

4L 850mL 4L 850mL
- 3L 840ml - 3L 840mL
010mL 1L 010mL

The answeris 1 L 10 mL.

Solve the following:
1 km 60m 6L 7156mlL

+ Ykm B50m - 5L 420mlL




Exercise 7.3

1. Add the following:

a) Sem Y4mm

+ lem 3mm

e) 18m 5%em

+ 12m 10em
e) 5kg 236g
+ 3kg 120g

2. Subtract the following:

a) 17em 4 mm

- l6em 2mm

20 em
45 em

c) 42 m

— Z2m

e) 6L 540 ml
- 1L 420mlL

b)

d)

b)

d)

lem 1mm

+ Y9em Y mm

9km 200m
* 10km 110m

43kg 209 g
+ Yhkg 241 g

29em 9 mm

— Bem Omm

85km 660m
— 1llkm B50m

2L BS540 mL
-41L H20mL




7.4 Time

Look at the clock. It tells us time.

It has hours hand, a minutes hand and a seconds hand.

The amall thick hand is the " ours hond

It shows us the hours.

The long thick hand is the 1 inutes hand,

It shows us the minutes.

The thin hand is the seconds hand.

It moves very fast, It shows us the =ocondy,

frinutes hanad

There are * " small lines on the clock.
The time It takes the seconds hand to move past one small

line ie equal te 00,

The tima it takes the seconds hand to move
past each of these 60 lines once, Is
equal to | minute. So, one complete round

of seconds hand ia equal to | miinute,

hate are B1) seconds In o minuts

1 minute = 60 seconds

lhere are 12 numbers on the clock. Each number shows an hour.

The time it tokes the minutes hand to move past the 60 lines once, is

aqual to | |17, Se, one complete round of minutes hand is equal to one hour.

Thera are 50 minutes In an hour

1 hour =60 minutes




Let's read the time on this clock.

The hours hand is at 6.
The minutes hand is at 3 which is 15 occording to

the smaller lines.

We say that it is 15 minutes past 6 o’ clock.

We write It as 6 . 15 and read it as six fiftesn
The seconda hand is at 45 according to the smaller lines.
This means 45 seconds have possed after six fifteen

Look at the clock.

The hours hand is between 2 and 3.
We will read the smaller numbar.

The minute hand is ot 8.

Which is 40 according to smaller lines.

We write it as 2 : 40 and read it as two forty

The seconds hand is at 24 according to smaller lines.

This meons 24 seconds hove poased after twe torty

"Read the time on each of the following clocks and write it in the

glven box.

Hours : Minutes : Seconds Hours : Minutes : Seconds Hours : Minutes : Seconds

10: 30 : 16 ]

L ‘ &




Converting time
Ahrmad took 1 hour 10 minutes to finish his homework. How many
minutes did he spend on his homework?
We know that there are 60 rinutes in 1 hour.
1 hour 10 minutes = Lllu_u,r + 10 minutes
= 60 minutes + 10 minutes
=70 minutes
Ahmad spent 70 minutes doing his homework.
Sara's father went to office for 4 hours 30 minutes. Let's see how
many minutes are there in 4 hours 30 minutes,

m + 30 minutes ril‘bwr = 60 minutes
= 240 minutes + 30 minutes EWi‘WﬁE nlaﬂ'm
= 270 minutes 3 hours =60 X 3 =180 minutes
‘f hours =60 X 4 =240 minutes

Zara went out of the clossroom for 6 minutes 30 seconda. Convert
this time into seconds.

We know that there are 60 seconds In 1 minute.
& minutes + 30 seconds
o aaolet

= 360 seconds + 30 seconds

=390 seconds

Convert the following:

2 hours 3 minutes = minutes B minutes 50 aacnndnsD-aacnndu

L3 . A



Exercise 7.4

1. Read time In hours, minutes and seconds.




2. Convert the following into minutes:

a) 3 hours b) 7 hours
c) 1 hour 15 minutes d) 2 hours & minutes
e) 3 hours 20 minutes f) 7 hours 40 minutes

3. Convert the following Into seconds;

a) 8 minutes b) 2% minutes
c) 9 minutes 20 seconds d) & minutes 16 seconda
e) 9 minutes 32 seconds £} 10 minutes 20 seconds

.



am and pm

Sara and Ali are going to school.

Itis 9 o clock.

We say It ls 9 am.

We use am to talk about time just ofter 12 ot night to just
before 12 in the morming.

Ahmad ond Anam are eating dinner.
Itis 9o clock again.

We say It is g pim.

We use i to talk about time Just after 12 in the merning
to just before 12 at night.

TI‘...-.'..- 1ri T ROWurn in g "]"J'F

.

Circle whather we will use am or pm to complete these sentences.

All eats his breakfastat 7 ___ . am pm
Zara goes to schoolat 8 . am pm
Sana comes home from school at 2 am pm
Anam goes to a park in the evening ot % am pm
Ahmad slesps at 9 avary night. am pm
%, S

160



Addition and subtraction of time

\hmad's family left the house at 4:16 am and reached lslomabad
ifter 8 hours 20 minutes. What was the time when they reached
slomabad?

Ne will add 4 hours 15 minutes and 5 hours 20 minutes.
tecall that we start adding from the right un.é always start from smaller unit

f measurement,

4 hours |15 minutes 4 hours| 15 minutes
+ 5 hours |2 0 minute + 15 hours| 2 0 minutes
3 8 minutes 9 hours 3 5 minutes
s oo
t was 9:35 am when they reached lslamabad.

nam atarted her hemewerk 2 houre before 7:16 pm, At what time
od she started her homework?

et's aubtract 2 hours O minutes from 7 houra 18 minutes.
7 hours |1 § minutes 7 hours| 15 minutes
— 2 houra — |2 hours| 0 O minutes
1 & minutes O hours 1 D minutes

was 5:10 pm when Anam started her homework

1
Selve the follewing;
3 hourz 1 5 minutes 7 hours 1 2 minutes
+ Y hours 2 2 minutes — 1l hours O 2 minutes

&



7.5 Conversion
There are 7 days In o week.

Ahmad's father went to Karachi for four weeks. How many days

are there in 1 weeks? | week = 7 days

4 weeks = 7 X 1 =28 days.
He went to Karachi for 28 du}ra.

Complete the following:
3 weeks =I iduv_.-a 6 weeks =E:|d-:r1,rn 9 weeks = |d-:|',m
Here is a calendar.
It shows days, weeks and months in the year 2017.
JANUARY FEBRUARY MARCH APRIL
B oM T W T F |8 (¥ T M7 FI§ /B0 TWET|F 3" (5 00T W er s
EEWEE L P23 4 1 2.3 4 1

B8 WM B4 S e T e 90N 567 88EN T34 5678
L0 T N R - R - A I L
2223 M Y5 26 2728 W 20 N 22 23 M 25 W0 2002 22 2324 25 W 1718 .19 20 21 22

M a0 N M 7728 M 2728 23 1031 23 2425 26 27 28 1%
30
MAY IUME JuLy AUGUST
WmT'" T\F ¥ '-HIIrF'J'HTl'.'l F_i '-.HT'ITFZ
] 2 3 4 5 B 1 2 3 1 12 3_4 B
T 8 8 W M1213 4 5 BI'7F R M0 T T 4 S )F-FA 8. ToBCT @moN A2

MO T BN RSN W NN

B

I 14 75 1607 (1819

IR XIM I OW IS NN W T 1318 W2 RN 2526
L T 35 26 2728 29 30 23 24 25 26 2T HAH X 28 10 3003
10 m
CEPTEMBER OETOBER NOVEMBER DECEMBER
1 w 0 o1 L BT @ 1.Fris 8 B TNW
i 2 1 I 4 8 B 7 I 2 34 | 2
3 4 5 B 7 R 8 B ANUMMYREEMWE T S-S 345G TR S
11213 WG SE 17819202 213405161718 100 1213M1515
18 1 20 20/ 22:23 2223 24 29 2027 280 W 20 2022 23 2425 W 18 19.20 20.22 23
M 25 7627 28 29°30 I 30 M i% 2728 298 30 #'75 26.37 282930



‘ou can see different months in the calendar.

ook at the number of the days of each month in the culendcrr

very month has 30 or 31 days. February has 28 days. Iii ! %ﬂ':

he summer vacations in cur school are from
une to August. How many days are there In
yese 3 months?

ook at the calendar. June has 30 days.
uly has 31 days and August has 31 days.
et's add the number of days.

0+31 +31 =92

ummer vacations in our achool are for 92 days.

- 3
iara's teacher went out of the town for the month of September

ind October. For how many days, was she away?

ind the total number of days from January to April when it is not

| leap year.

ook at the calendar again.

here are 12 months in a year.

Ar. Khan went to America for 2 years. Convert 2 years to months,

year =12 months
'years = 12X 2 =2% montha

-onvert the following years to months:

years = | meonths Y years= months 9 years _,[ ‘months




/.6 Measurement problems in daily life

l A shopkeeper sold 3 kg 200 g flour and 4 kg 150 g of sugar. What

-

is the total mass of both flour and sugar? [ *r-i . i
£l ':”n :EHEAR
b ange s :_-._-__._l-'l-"."':

P Asim is 1 m 25 em tall. His teacher iz 2 m 45 em tall. What is the

differance between thair haights? 5
" S
il t . Iﬁ . ‘

LA

3 Asad bought 2 L 500 mL milk. He drank 1 L 250 mL of it. How much

milk s left?
L—n‘

1. Maryam spent 1 hour 20 minutes on her English homework and 2
hours 30 minutes on her Mathematics homework. How much time did

she spend in total? A

*._‘ ﬁr#‘
D. Bashir went to Karachi f?r*ﬂ,;'aaks. How many days did he spend

thera? g *



CHAPTER 8: GEOMETRY

H i l_er':

A line is a straight path without thickness.
It can be a straight path in any direction.

Below are some lines. 4

4——"/. !

The arrows show that the lines can be sxtended in any dirsction
We can also name the lines. Let's call one end of the line A and the other
end B.
<« —>
A B

AB ig a line. We write it as E

Let's draw another line CD.

<t —>
c D

You can see that .C_ﬁla smaller than E

A line segment is a part of a line and it has two endpoints
PQ is o line segment. We write It as PQ. P Q

A ray s @ part of a line that has one endpoint and extends in one

direction without ending

XY is o ray. We write it as XY, 2 T >




Let's measure the length of the line AB.

We can use a ruler to measure the length of the line.

Put your ruler over the line such that 0 of yiour ruler is at A. Mark the point

wheare B |s.

A B

Dom i i 4 3 & 7 B ¥ o A 1

Point B reads 9 em 5 mm.
The |ﬂngﬂ1 of the line is 9 cm and 5 mm

p
Measure the length of the following lines.

M N R 3

e akel

Which line is bigger. MN or RS?

>

Draw a line in the given space and find its length.




Horizontal and vertical lines

L ]
ook at this line Horizental Line

It goes from side to side or left and right. l
We call such line horizantal line < s
F
Now, look at this line. Vertical Line
e

It goes up and down.

We call such line vertical line

Look at the picture of the house.
There are many vertical and herizontal line segments. Can you

identify them?

We will mark the vertical line segments with red
and horizental line segments with green.

There are 7 horizontal line segments and

9 vertical line segments.

Look at the water bottle.

The red line segment shows its position from the ground,
It is o vertical line segment.




Parallel and non-parallel lines

Look at these two lines.

They are always at the same distance from < >
each other. -— >
We call such linas parallel lines

Parallel lines are the lines that are at same distance from each
other. They never meet each other.

Following pairs of lines show parallel lines.

|

Look at these twe lines. \
Thay ara not u|wurn at the some distance fram esach other.

— >
if we increase their length keeping same direction, they will meet.

We call such lines non-parallel linea.

ﬂfbupnmlhihnnm the lines in the same plane that are not at

the same distance from aach other. They cross each other.

Following pairs of lines show non-parallel lines.

/" ‘/./ _l_




Exercise 8.1

—
= |
=
L]
T
L

nents show position of ditferent objects with respect to

1 F
ind. Identify horizontal and vertical line segments

Vertical

2. Cirale the pairs of parallel lines from the following:
'\
e

3. Decide whether the line seaments marked red are parallel or non

parallel
Parallel




8.2 Identifying angles

When two non-parallel rays meet at a point, an angle is formed.

A Two straight rays meet each other at point B,
3 . Biridle B is the vertex of the angle.
The aymbol of the angle is £ .
C We can name it ZABC or £CBA
Angle iz marked with a curved line.
Lock at the angles below.

C E L p
\__» ’\\}/,iv ﬂ<<:
D E E M N -
£CDE Is the greatest ond £PQUR is the amallest.

Let's try to find angles around us.

%

-

The minutes hand and the The blades of the scissors
hours hand make an angle. make an angle.
Which of these pairs of rays form unrungle? Circle those pairs.
f—




Take a piece of paper and fold it keeping the ends together.

right angle

The angle at the corner of a piece of folded paper is a right angle.
It is marked as b

We can also use a set-square to check if an angle is right angle.

ZLMN is right angle £BCE is not a right angle.

It is smaller than a right angle.
We call it aeute angle.

X
e : f
P Q R R z L
ZPQR is not a right angle, £XYZ is not a right angle.
It is double than a right angle. It is greater than a right angle

We call it a straight angle. and smaller than a straight angle.

We call it obtuse angle.



We can see right angles around us.

!me

We con see acute angles around us. \

E:

.y
CL

We can see obtuse angles around us.

® O

\ [dentify right angle, acute angle and obtuse angle from below and \

write In the given space.
A

N3




Fxercise 8.2

1. Mark right angles in the given shapes.

? ’ B :

2. ldentify right angles, acute angles and obtuse angles from
below

UJL b c}é




8.3 Measuring and drawing angles

We measure angles in degrees (°).

There are 90" in a right angle.

There are two flg]ﬂ ungl&n ina siruight line.
A straight line s 180. 90 (90

D,
90'+ 90 =180
fod o0

!

A complete circle is the same as four right angles or 360,

90"+ 90"+ 90°+ 90" =360"

We can say that EIE th part of complete circle is equal to one degree.

An angle less than 90is an acute angle.
An angle greater than 90 but smaller than 180 is an obtuse angle.

Look at the angle ABC. A

Let's measure £ ABC.

We con use a protractor to

maasure the nngh.

cenfre mark

A protractor has a centre mark, an upper scale and a lower scale.

Upper scole reads the measure of angles from left to right.

Lower scole reads the measure of angles from right to left.

Each small marking on the scales shows 1 degree ( I° )-



To measure £ABC, place the protractor on the line BC such that the vertex is
at the centre mark of the protractor. If the line lies on the O of the lower scale,

we read the lower scale of the protractor. If the line lies on the 0"of the upper

scale, we read the upper acale of the pratractor

BC lies on the O of the lower scale.

So, we will read the lower scale,

BA falls on the marking that is 2 after 45.
So, £ABC measures 47 degrees.

We can also write it as, m £ABC =47"




Measure the following angles:

= .
B c G F 3

M N
mzABC={ |  mzEG=[ ] mZLMN=

We can olso drow angles using a protractor.
Let's draw m £ABC =30"

we
iﬁﬁfma. A 5
8-y

2P Place the protractor on the ray
BA. Make sure that the centre
mark of the protractor falls on

point B which is the «uian *";l

scale of the protracter and
mark the peint as point C.
4
A
C
) 30"
A B
m 2ABC = 30°




Exercise 8.3

1. Use protractor to measure the following angles:
a) A b] c) i

d

2. Use protractor to draw the following angles.

a) mcsABC=40" b) m< LMN=90 ) me MNO =70

d) mzABC=80" 8) melMN=120" f) ms MNO =150



8.4 Circle

Look at the circle. It has no sides.
It has a cantra.

Centre is o point from which all paints on the
circle are at the same distance.

We can draw a line segment from the centre of the

circle to any point on the circle.
This line is called radius of the circle.

We can draw a line segment from one point of the circle
to any other point of the circle, through the centre.
This line segment is called diameter of the circle.

Remember that diameter is double of the radius.

circum ﬁlrﬂncu

The distance around the circle is called cireumference.

(Identify the centre, radius, diameter and circumference of the
following circles:

D
CB
0
6 H
F
A
3
T,




Here is 0 compasses.

Before using it, make sure to
1. tighten the hold of the pencil so that it does not slip.
2. align the tip of the pencil with the needle.

Let's draw a circle.

Open the compasses. Prees down the needle and turn the knob all the way
around keeping the needle fixed. You will see a circle made.

® © ©

Ah

(Draw a circle In the given space.




CHAPTER 9: INFORMATION HANDLING
9.1 Bar graph

Sara buys four types of fruits in different quantities.

bOoYe
JJ

¢
A XX

She uses a picture graph to show the number of each type of fruit she bought.

O
O
O
O

Apples

Bananas

Oranges

Mongoes

Each @u stands for 1 fruit,

We can read the pieture graph by counting the @ in @ach column.

Sara bought § apples, 2 bananas, 3 oranges and 4 mangoes.



We can also show this data on a vertical bar graph.

&l Jges bars IngTec of piciu "y G

q
3 3
2
Scale © I
1
G

Apples Baonanas Oranges Mangoes

We can find out how mony apples, bananas. oranges and mangoes Sara

bought by reading the scale on the bar graph.

The bar at apples goes to §, the bar at bananas goes to 2, the bar at oranges

goes to 3 and the bar at mangoes goes to 't.

Ahmad collected books on different subjects as shown in the table.

We can also show this data on a bar graph.

English 1 ; —3
Science 3 2 2
Mathematics 2 ) 1

English Science Mathematics Urdu

Read the scale and write the number of books Ahmad has.

English: The scale reads —L . Ahmad has 1 English boak.
Science: The scale reads . Ahmad has Sclence books.
Mathematics: The scale reads . Ahmad has Mathematics books.
Urdu: The scale reads . Ahmad has Urdu books.




We can also represent data on a horizontal bar graph.

The bar graph shows number of toys sold by a shopkeeper over four months.

April
March

February

January

0 50 100 150 200 250 300 ©—— Scale

The number of toys sold every month can be read from graph.

Jonuary __ 150 February _ 250
March 100 : April 200
(The bar graph shows different number of animals kept in a zoo. =
Monkeys
Lebras
Lions
tlephants
Dears
0 b 10 15 20 25
Read the scale and write the number of animals.
Mankeys Zebras Lions
Elephants Deers
LY A




9.2 Line graph

Ahmad has flowers of 4 different colours. The following table shows
number of flowers of every colour, Ahmad has.

We can show this data on a bar graph.

4

3

2

1

' ]

Red  Yellow Pink  Purple

We can also show this data on a line graph. On a line graph, instead of bars,

we just put dots and join them by a line.

5 5
. |
3 > - /1
72 I
Scale 1
0

Red Yellow Pink Purple
We can read the scale on the line graph.

Look at the dot above Red On the scale, it reads 2.
This means Ahmad has 2 red flowers. Similarly, the scale tells us that Ahmad

has 3 yellow flowers. 1 pink flower and 4 purple flowers.

 Aline graph uses lines 10 show tha dato. |
183




All saves some money every month. A line graph below shows his
savings.

400
300

7 200
Scale 100 \
0

January February March April May  June

Write the amount of money Ali saved every month.
_& February L‘ﬂ March JL

0

January
200 M 400

JLII‘EE

April

r?.unk at the line graph below.

The line g;uph shows number of students in different classes in a school.
30 }.
25
20 £

15 ] /

10

5 \,(

0

Closs 1 Closs2 Closa3 Classt Class b Clasa 6

Read the gmph and write the number of students in sach class.

Claes 1 15 Class 4
Class 2 Clags 5
Closs 3 Class 6
% ¥




